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 1. The question paper will be given in the form of a Question Booklet. There will be four versions 
of question booklets with question booklet alpha code viz. A, B, C & D. 

 2. The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet of 
the question booklet. 

 3. The Question Booklet Alpha Code allotted to you will be noted in your seating position in the 
Examination Hall. 

 4. If you get a Question Booklet where the alpha code does not match to the allotted Alpha Code 
in the seating position, please draw the attention of the Invigilator IMMEDIATELY. 

 5. The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If 
your Question Booklet is un-numbered, please get it replaced by new Question Booklet with 
same Alpha Code. 

 6. The Question Booklet will be sealed at the middle of the right margin. Candidate should not 
open the Question Booklet, until the indication is given to start answering. 

 7. Immediately after the commencement of the examination, the candidate should check that the 
Question Booklet supplied to him contains all the 100 questions in serial order. The Question 
Booklet does not have unprinted or torn or missing pages and if so he/she should bring it to the 
notice of the Invigilator and get it replaced by a complete booklet with same alpha code. This is 
most important. 

 8. Question Serial No. 1 to 80 are printed both in English and in Official Language 
(Malayalam). Doubts regarding the meaning and translation of Question Serial No.  
1 to 80 will be settled based on the Questions in English. 

 9. Two blank pages are provided before the last page of this Question Paper for rough work. 
 10. Please read carefully all the instructions on the reverse of the Answer Sheet before 

marking your answers. 
 11. Each question is provided with four choices (A), (B), (C) and (D) having one correct answer. 

Choose the correct answer and darken the bubble corresponding to the question number using 
Blue or Black Ball-Point Pen in the OMR Answer Sheet. 

 12. Each correct answer carries 1 mark and for each wrong answer 1 / 3 mark will be 
deducted. No negative mark for unattended questions. 

 13. No candidate will be allowed to leave the examination hall till the end of the session and 
without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure that 
the Invigilator has verified all the entries in the Register Number Coding Sheet and that the 
Invigilator has affixed his/her signature in the space provided. 

 14. Strict compliance of instructions is essential. Any malpractice or attempt to commit any kind 
of malpractice in the Examination will result in the disqualification of the candidate. 
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1. Who wrote Unniyadi Charitham? 

(A) Rayarambilla (B) Damodara Chakkyar 

(C) Kerala Varma (D) Appan thampuran 

2. Who started the journal Bahishkrit Bharat? 

(A) B.R. Ambedkar (B) Karsondas Mulji 

(C) Bhan Daji (D) Jotiba Phule 

3. What was the main slogan of the Bolsheviks during the revolution? 

(A) Liberty Equality Fraternity (B) Workers of the world 

(C) Peace, Land and Bread (D) Down with the Tsar 

4. The National Security Guard (NSG) works under which union ministry?  

(A) Ministry of commerce and industry (B) Ministry of home affairs 

(C) Ministry of culture (D) Ministry of communications 

5. Doldrums, region characterized by calm air movements, is found in which of the 
following pressure belts? 

(A) Subtropical high-pressure belt (B) Equatorial low-pressure belt 

(C) Subpolar low-pressure belt (D) Polar high-pressure belt 

6. Consider the following rivers 

 (I) Sharavati  

 (II) Tapi 

 (III) Narmada  

 (IV) Vaigai 

 Select the rivers that flow in a rift valley: 

(A)  (I) and (III) (B) (II) and (III) 

(C) (I) and (II) (D) (III) and (IV) 

7. Which among the following is the oldest irrigation project in Kerala? 

(A) Malampuzha irrigation project (B) Pothundi project 

(C) Peechi irrigation project (D) Neyyar irrigation project 
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1. uŬĒĆđ÷ĒòćĒüÝ eċĔüĒĆļ àćđĻ? 
(A)  ćĆćÝăĒĉī (B) ĘþđĘąđþć òđíŖđœ 

(C) ĘíćĊČœm (D) apŒ ümĔćđŒ 

2. ăĐĒŎíĖļ Ąđćļ en ĘôûŔ àćÝĄĒcļ àćđĻ? 

(A)  ăĒ.àœ. aÝĘăľkœ (B) íœĘďđŪđŏ ąĔŕôĒ 
(C) ĄđŒ þđôĒ (D) ĘôđüĒă Ăĕėĉ 

3. ČĒpČíđĉtĝ ĘăđŕėĎČĒkĔíĊƧė÷ ŗāÿđĀ ąĔŗþđČđíŖÝ enđĆĒćĔnĔ? 

(A)  ďřđüŗnŖÝ ďąüřÝ ďđĘĐđþćŖÝ (B) Ęĉđí ėüđċĒĉđĊĒíŕ 

(C) ďąđÿđĀÝ, ĄĕąĒ, apÝ (D) ùĞő ČĒtĝ þ ďđœ 

4. ĘþčēĆ ďĔćkđ ĘďĀ (NSG) èļ Ęíŗn ąŗnđĉĆtĒŀ íēċĒĉđĻ 
ŗāČœtĒkĔnļ? 

(A)  ČđûĒôŖ ČŖČďđĆ ąŗnđĉĆÝ (B) àĄŖnć ąŗnđĉĆÝ 

(C) ďđÝŏíđćĒí ąŗnđĉĆÝ (D) àčĆČĒĀĒąĆ ąŗnđĉĆÝ 

5. üđėċpĈĆĔn èļ ąœd ČĉĆtĒĉđĻ, čđnąđĆ ČđĆĔ òĉĀšŕ ull 
ŗāĘþčąđĆ ĘùđŕŗùÝŏ íđûėp÷Ĕnļ? 

(A)  uāuŎûĘąîĉđ uĆœn-ąœd ČĉĆÝ  

(B) ĄĕądŖĘćîđ üđŋn-ąœd ČĉĆÝ 

(C) uāŗÿĔČ üđŋn-ąœd ČĉĆÝ 
(D) ŗÿĔČ uĆœn-ąœd ČĉĆÝ 

6. üđėċpĈĆĔn ĀþĒíŕ āćĒïûĒkĔí : 

 (I) čćđČüĒ  
 (II) üŁüĒ 
 (III) Āœmþ  
 (IV) ęČï 

 ČĒllŔ üđŋČćĆĒŔ oċĔíĔn ĀþĒíŕ üĒćėŧ÷ĔkĔí : 
(A)  (I), (III) (B) (II), (III) 
(C) (I), (II) (D) (III), (IV) 

7. üđėċpĈĆĔnČĆĒŔ ĘíćĊtĒėĉ èƃČĔÝ āĔćđüĀ ôĉĘďòĀ ādüĒ 
èüđĻ? 

(A)  ąĉmĔċ ôĉĘďòĀ ādüĒ (B) ĘāđtĔŪĒ ādüĒ 
(C) āēcĒ ôĉĘďòĀ ādüĒ (D) ėĀyđœ ôĉĘďòĀ ādüĒ 
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8. Which of the following space mission brought Indian astronaut Shubhanshu Shukla to 
the International Space Station? 

(A) Gaganyaan - 4 (B) Artemis mission - 2 

(C) Axiom mission - 4 (D) Blue Origin NS - 18 

9. Which of the following is not a correct match of Five-Year Plan and its objective? 

(A) Tenth Plan  —  Faster and More Inclusive Growth  

(B) Eighth Plan  —  Economic reforms and stabilization 

(C) Twelfth Plan  —  Faster, Sustainable and More Inclusive Growth 

(D) Ninth Plan  —  Growth with Social Justice and Equality 

10. Which of the following correctly differentiates the role of NITI Aayog from that of the 
erstwhile Planning Commission? 

(A) NITI  Aayog retains the power to allocate funds to states, unlike the Planning 
Commission   

(B) NITI Aayog follows a bottom-up approach to planning with emphasis on 
cooperative federalism, while the Planning Commission followed a top-down 
model  

(C)  NITI Aayog prepares Five-Year Plans for the economy, while the Planning 
Commission only gave policy advice  

(D) NITI Aayog is a constitutional body, while the Planning Commission was a 
statutory body  

11. What is the GST rate of capital goods in the country? 

(A) 0% (B) 5% 

(C) 12% (D) 18% 

12. Which of the following states benefited the most during the initial phase of the Green 
Revolution in India? 

(A) Bihar and Odisha (B) Punjab and Haryana 

(C) West Bengal and Assam (D) Rajasthan and Madhya Pradesh 
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8. inŖŒ ăĐĒćđíđčĆđŗüĒíĀđĆ čĔĄđŒĎĔ čĔkėĆ anđćđŗƈ 
ăĐĒćđíđč ĀĒĉĆtĒĘĉkĝ ėíđŪĔČn ăĐĒćđíđč þĞüŖÝ èüđĻ? 

(A)  ïïŒĆđŒ - 4 (B) àœėŨąĒŏ þĞüŖÝ - 2 

(C) àĭďĒĆÝ þĞüŖÝ - 4 (D) bƨ oĈĒôĒŒ eŒeŏ - 18 

9. āŦČtć ādüĒĆĔÝ aüĒėn ĉkŖČĔÝ ümĒŔ čćĒĆđĆ 
ėāđćĔtąĒĉīđtļ üđėċünČĆĒŔ èüđĻ? 

(A) ātđÝ ādüĒ  - ĘČïüĘĆĈĒĆüĔÝ íĕ÷ĔüŔ   
   uŕėkđllƧnüĔąđĆ ČĊœc  

(B) eŨđÝ ādüĒ  -  ďđmtĒí āćĒŎíđćšĊƧÝ  
   sĒćüĆĔÝ 

(C) āŗnŪđÝ ādüĒ   - ĘČïüĘĆĈĒĆüĔÝ ďĔsĒćČĔÝ íĕ÷ĔüŔ 
uŕėkđllƧnüĔąđĆ ČĊœc  

(D) omüđÝ ādüĒ   -  ďđąĕĐĒí ĀēüĒĆĔÝ ďąüřČĔÝ ull  
     ČĊœc 

10. üđėċpĈĆĔnČĆĒŔ èüđĻ ąĔŒíđĉ àďĕŗüû ímēĎėn āŠĒŔ ĀĒnĝ 
ĀēüĒ àĘĆđïĒėn āŠĒėĀ čćĒĆđĆĒ ĘČœüĒćĒkĔnļ? 

(A) àďĕŗüû ímēĎĀĒŔ ĀĒnĝ ČŖüŖŏüąđĆĒ, ďÝsđĀšŕkĝ 
ĂŪĝ aĀĔČþĒkđĀĔll aÿĒíđćÝ ĀēüĒ àĘĆđį ĀĒĉĀĒœtĔnĔ  

(B) ďĐíćû ėĂùĈĉĒďtĒŀ änŔ ĀŔíĒėíđŪĝ üđėċtŨĒŔ 
ĀĒnĔll àďĕŗüû ďąēāĀąđĻ ĀēüĒ àĘĆđį āĒnĔ÷ćĔnļ, 
aĘüďąĆÝ àďĕŗüû ímēĎŒ ąĔíĊĒŔ ĀĒnĝ üđĘċkĝ ĘāđíĔn 
oćĔ ąđüĖíĆđĻ āĒnĔ÷ćĔnļ 

(C) ďmľČŖČsņkđĆĒ ĀēüĒ àĘĆđį āŦČtć ādüĒíŕ 
üyđĈđkĔnĔ, aĘüďąĆÝ àďĕŗüû ímēĎŒ ĀĆāćąđĆ 
uāĘþčÝ ąđŗüąđĻ ĀŔíĔnļ  

(D) ĀēüĒ àĘĆđį oćĔ Ąćûð÷Āđ sđāĀąđĻ, aĘüďąĆÝ 
àďĕŗüû ímēĎŒ oćĔ ĀĒĆąđĀĔďĖü sđāĀąđĆĒćĔnĔ 

11. ćđôŖtĝ ąĕĉÿĀ ČŏüĔkĊƧė÷ ôĒeŏ÷Ē ĀĒćkĝ eŗüĆđĻ? 

(A)  0% (B) 5% 
(C) 12% (D) 18% 

12. inŖĆĒŔ ĐćĒü ČĒpČtĒėn ŗāđćÝĄ ðŨtĒŔ èƃČĔÝ íĕ÷ĔüŔ 
ŗāĘĆđôĀÝ ĘĀ÷ĒĆ ďÝsđĀšŕ èüđĻ? 

(A)  ăēĐđœ, oùēĎ  (B) āŦđŃ, ĐćĒĆđĀ 

(C) āƆĒą ăÝïđŕ, aďÝ (D) ćđôsđŒ, ąÿŖŗāĘþō 
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13. Consider the following statements about Kerala’s use of delegated legislation and the 

constitutional safeguards in place to check administrative overreach: 

1. The Kerala Legislature’s Committee on Subordinate Legislation is empowered to 

scrutinize all executive rule-making that exceeds the scope of the enabling Act. 

2. Judicial review of delegated legislation in Kerala is limited only to procedural 

irregularities, not to the merits or policy content of the rule. 

3. The Kerala High Court has consistently upheld the requirement of “laying 

procedure” for all major delegated legislations before the Legislative Assembly. 

4. Delegated legislation in Kerala often operates without the provision for public 

consultation, which limits participatory governance. 

Which of the statements given above is/are correct? 

(A) 1 and 4 only (B) 2 and 3 only 

(C) 1, 3 and 4 only (D) 1, 2 and 3 only 

14. Kerala’s approach to disaster management reflects a multi-tiered institutional structure 

and integration with developmental planning. Consider the following table showing 

administrative bodies and their roles: 

 Authority  Role in Disaster Management 

(i) State Disaster Management Authority (1) Final authority for sanctioning 

 (SDMA)   district-level response plans  

(ii) District Disaster Management Authority (2) Headed by the District Collector 

 (DDMA)  and implements local strategies 

(iii) Local Self-Government Institutions (3) Coordinate with central forces  

(LSGIs)  for rescue operations 

(iv) State Planning Board (4) Mainstreams disaster risk 

reduction into state planning  

Which of the following is the correct match of authorities with their roles? 

(A) (i)-(2), (ii)-(3), (iii)-(4), (iv)-(1) (B) (i)-(1), (ii)-(2), (iii)-(3), (iv)-(4) 

(C) (i)-(1), (ii)-(2), (iii)-(4), (iv)-(3) (D) (i)-(4), (ii)-(2), (iii)-(3), (iv)-(1) 
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13. ĄćûāćąđĆ aüĒćĔí÷pĝ ü÷ĆĔnüĒĀđĆĒ ĘíćĊÝ ĀĒĆĔk 
ĀĒĆąĀĒœmđûtĒėn uāĘĆđïėtĆĔÝ ĀĒĉČĒĉĔll Ąćûð÷ĀđāćąđĆ 
ďĔćkėĆĆĔÝ íĔĈĒcƧll üđėċpĈĆĔn ŗāŏüđČĀíŕ āćĒïûĒkĔí : 
1.  ŗāđŁüąđkĔn ĀĒĆątĒėn āćĒÿĒ íČĒĆĔn eĉīđ eĭďĒíŖĕŨēŌ 

Ĉĕŕ-ĘąkĒÝïĔÝ āćĒĘčđÿĒkđŒ ĘíćĊ ĀĒĆąďĄĆĔė÷ ďĘăđœùĒĘĀƃĝ 
ėĉôĒĘsĎŒ ímĒƃĒkĝ aÿĒíđćąĔŪĝ. 

2.  ĘíćĊtĒėĉ ĀĒĆĔk ĀĒĆąĀĒœmđûtĒėn ôĔùēĎŖŔ aČĘĉđíĀÝ 
Ā÷ā÷ĒŗíąāćąđĆ ŗíąĘk÷ĔíĊĒŔ ąđŗüÝ āćĒąĒüėp÷ĔtĒĆĒćĒkĔnĔ, 
ĀĒĆątĒėn ïĔûšĊĒĘĉđ ĀĆāćąđĆ ull÷ktĒĘĉđ aĉī. 

3.  ĀĒĆąďĄņkĝ ąĔmđėí eĉīđ ŗāÿđĀ ĀĒĆĔk ĀĒĆąĀĒœmđûšŕkĔÝ 
"Ā÷ā÷ĒŗíąÝ sđāĒkŔ" en àČčŖíü ĘíćĊ ęĐĘkđ÷üĒ 
sĒćąđĆĒ čćĒČcĒŨƧŪĝ. 

 4.  ĘíćĊtĒŔ ĀĒĆĔk ĀĒĆąĀĒœmđûÝ āĉĘpđċĔÝ ėāđüĔôĀđĄĒŗāđĆ 
tĒĀĔll ČŖČsĆĒĉīđėü ŗāČœtĒkĔnĔ, iļ āŠđĊĒt Ąćûėt 
āćĒąĒüėp÷ĔtĔnĔ. 

ąĔíĊĒŔ ĀŔíĒĆĒćĒkĔn ŗāŏüđČĀíĊĒŔ èüđĻ čćĒ? 
(A) 1, 4 ąđŗüÝ (B) 2, 3 ąđŗüÝ 

(C) 1, 3, 4 ąđŗüÝ (D) 1, 2, 3 ąđŗüÝ 

14. þĔćnĀĒČđćûĘtđ÷Ĕll ĘíćĊtĒėn ďąēāĀÝ ăĐĔüĉ sđāĀ 
ð÷ĀėĆĆĔÝ ČĒíďĀ àďĕŗüûČĔąđĆĔll ďÝĘĆđôĀėtĆĔÝ ŗāüĒĂĉĒ 
pĒkĔnĔ. Ąćû sđāĀšėĊĆĔÝ aČĆĔė÷ ĘĈđĊƧíėĊĆĔÝ íđûĒkĔn 
üđėċpĈĆĔn āŨĒí āćĒïûĒkĔí : 
   aĘüđĈĒƃĒ  þĔćnĀĒČđćûtĒŔ āŠĝ  
(i) ďÝsđĀ þĔćnĀĒČđćû aĘüđĈĒƃĒ (1) ôĒĉīđ üĉ ŗāüĒíćû  
 (SDMA)  ādüĒíŕ aĀĔąüĒ 
    ĀŔíĔnüĒĀĔll   
    anĒą aÿĒíđćÝ 
  
(ii) ôĒĉīđ þĔćnĀĒČđćû aĘüđĈĒƃĒ (2) ôĒĉīđ íĊĭ÷œ ĀĆĒkĔíĆĔÝ 
 (DDMA)  ŗāđĘþčĒí üŗnšŕ Ā÷pĒ 

ĉđkĔíĆĔÝ ėòyƧnĔ 
(iii) üĘdč ďřĆÝĄćû sđāĀšŕ (3) ćkđŗāČœtĀšŕkđĆĒ 

(LSGI)  Ęíŗn ĘďĀĆĔąđĆĒ  
   èĘíđāĒpĒkĔí 

(iv) ďÝsđĀ àďĕŗüû ĘăđœĹ (4) ďÝsđĀ àďĕŗüûtĒ 
Ęĉkĝ þĔćnďđÿŖüđ ĉðĕ- 
íćûÝ ąĔîŖÿđćĆĒĘĉkĝ 
ėíđŪĔČćĒí 

üđėċ āĈĆĔnČĆĒŔ èüđĻ aÿĒíđćĒíĊƧė÷ ĘĈđĊƧíĊƧąđĆĒ čćĒĆđĆ 
ėāđćĔtÝ? 

(A) (i)-(2), (ii)-(3), (iii)-(4), (iv)-(1) (B) (i)-(1), (ii)-(2), (iii)-(3), (iv)-(4) 
(C) (i)-(1), (ii)-(2), (iii)-(4), (iv)-(3) (D) (i)-(4), (ii)-(2), (iii)-(3), (iv)-(1) 
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15. Which of the following best explains why the implementation of Land Reforms in Kerala 

succeeded in altering the agrarian structure, yet failed to generate proportionate rural 

industrialisation or employment growth? 

(A) The Land Reforms were legally weak and lacked proper enforcement 

mechanisms.   

(B) The redistribution of land was limited to barren, non-cultivable holdings  

(C) Land Reforms removed absentee landlordism but failed to integrate with a 

long-term rural economic strategy  

(D) The high literacy rate in rural areas led to large-scale migration, making local 

development unfeasible 

16. With reference to the functions and limitations of the Kerala State Planning 

Board(KSPB), consider the following statements: 

1. The KSPB operates independently of the Finance Department and prepares the 

budget for developmental sectors. 

2. KSPB’s advisory role ensures participatory planning, but it lacks statutory powers 

to enforce implementation. 

3. One of the key functions of the KSPB is to harmonize the objectives of the  

Five-Year Plans with the State’s annual plans. 

4. KSPB directly monitors the performance of the Local Self-Government Institutions 

(LSGIs) in real time using GIS-based platforms. 

Which of the statements given above are correct? 

(A) 2 and 3 only (B) 1, 2 and 4 only 

(C) 2, 3 and 4 only (D) 1 and 3 only 
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15. ĘíćĊtĒŔ ĄĕāćĒŎíćûÝ Ā÷pĒĉđkĒĆļ íđœĎĒí ð÷ĀĆĒŔ ąđƃÝ 
ČćĔtĔnüĒŔ ČĒôĆĒėcŠĒĉĔÝ àĀĔāđüĒíąđĆ ŗïđąēû ČŖČďđĆ 
ČŔkćûĘąđ ėüđċĒŔ ČĊœcĘĆđ ďĖƈĒkĔnüĒŔ āćđôĆėpŨüĒėn 
íđćûÝ üđėċpĈĆĔnČĆĒŔ èüđĻ èƃČĔÝ ĀnđĆĒ ČĒčþēíćĒkĔnļ? 

(A)  ĄĕāćĒŎíćûšŕ ĀĒĆąāćąđĆĒ þĔœăĉąđĆĒćĔnĔ, čćĒĆđĆ 
ĀĒœvĐû ďÝČĒÿđĀšėĊ aļ üíœtĔ 

(B) ĄĕąĒĆĔė÷ āĔĀœČĒüćûÝ üćĒčĔĄĕąĒĆđĆüĔÝ íĖĎĒ ėòyđŒ 
ĘĆđïŖąĉīđtüĔąđĆ ĄĕąĒĆĒĘĉkĝ ąđŗüąđĆĒ āćĒąĒüėp÷ĔtĒ 

(C) ĄĕāćĒŎíćûšŕ aďđnĒÿŖ ĄĕČĔ÷ąsüėĆ iĉīđüđkĒ, āĘk 
þēœðíđĉ ŗïđąēû ďđmtĒí üŗnČĔąđĆĒ ďÝĘĆđôĒpĒkĔnüĒŔ 
āćđôĆėpŨƧ  

(D) ŗïđąŗāĘþčšĊĒėĉ uĆœn ďđkćüđ ĀĒćkĝ ČĉĒĆ ĘüđüĒĉĔll 
íĔ÷ĒĘĆƃtĒŀ íđćûąđĆĒ, iļ ŗāđĘþčĒí ČĒíďĀÝ 
aďđÿŖąđkĒ 

16. ĘíćĊ ďÝsđĀ àďĕŗüû ĘăđœùĒėn (KSPB) ŗāČœtĀšėĊĆĔÝ 
āćĒąĒüĒíėĊĆĔÝ āćđąœčĒcĝ, üđėċpĈĆĔn ŗāŏüđČĀíŕ āćĒïûĒkĔí : 

1.  ėíeŏāĒăĒ ÿĀíđćŖ ČíĔpĒŔ ĀĒnĝ ďřüŗnąđĆĒ ŗāČœtĒkĔíĆĔÝ 
ČĒíďĀ ĘąîĉíŕkđĆĒ ăôƃĝ üyđĈđkĔíĆĔÝ ėòyƧnĔ 

2. ėíeŏāĒăĒĆĔė÷ uāĘþčí āŠĝ āŠđĊĒt àďĕŗüûÝ uĈpđkĔnĔ, 
āĘk aļ Ā÷pđkŔ Ā÷pĒĉđkĔnüĒĀĔll ĀĒĆąāćąđĆ 
aÿĒíđćšėĊ üíœkĔnĔ. 

3.  ėí eŏāĒ ăĒĆĔė÷ ŗāÿđĀ ŗāČœtĀšĊĒėĉđnĝ āŦČtć 
ādüĒíĊƧė÷ ĉkŖšėĊ ďÝsđĀtĒėn ČđœĎĒí ādüĒíĊƧąđĆĒ 
ĘĆđôĒpĒkĔí enüđĻ.  

 4.  ôĒ é eŏ aÿĒŎøĒü pđƃĝ ĘĂđąĔíŕ uāĘĆđïĒcĝ üĘdč ďřĆÝĄćû 
sđāĀšĊƧė÷ (eŔ eŏôĒ é) ŗāČœtĀšŕ ėí eŏāĒ ăĒ ĘĀćĒŨĝ 
ütąĆÝ ĀĒćēkĒkĔnĔ. 

 ĘąŔpĈŧ ŗāŏüđČĀíĊĒŔ èüđĻ čćĒ? 

(A) 2, 3 ąđŗüÝ (B) 1, 2, 4 ąđŗüÝ 

(C) 2, 3, 4 ąđŗüÝ (D) 1, 3 ąđŗüÝ 
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17. In the context of Kerala’s approach to e-Governance, which of the following reflects the 
key factors that have contributed to its relative success at the grassroots level? 

1. Integration of e-Governance with decentralized planning processes. 

2. Strong technical support from autonomous agencies like the Information Kerala 

Mission (IKM). 

3. Exclusive dependence on private IT vendors for public service delivery platforms. 

4. Active involvement of local self-government institutions (LSGIs) in digitizing 

citizen services. 

Which of the statements given above are correct? 

(A) 1, 2 and 4 only (B) 2 and 3 only 

(C) 1 and 3 only (D) 1, 2, 3 and 4 

18. In 2024, the Government of Kerala launched the “Climate Resilient Kerala Initiative” 

(CRKI), which aligns with the state’s disaster risk reduction and sustainable 

development goals. Which of the following features correctly describe this initiative in 

the context of Kerala’s governance and planning system? 

1. It integrates climate adaptation strategies directly into local self-government (LSG) 

level plans. 

2. It is coordinated by the Kerala State Disaster Management Authority (KSDMA) 

and funded solely by the World Bank. 

3. It emphasizes watershed-based development and nature-based solutions for 

disaster-prone zones. 

4. It mandates the use of climate vulnerability indexing in district-level planning. 

Which of the statements given above are correct? 

(A) 1, 2 and 4 only (B) 1, 3 and 4 only 

(C) 2 and 3 only (D) 1 and 4 only 
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17. ĘíćĊtĒėn i-ïĘČûŒŏ ďąēāĀtĒėn āƆđtĉtĒŔ, 
üđėċpĈĆĔnČĆĒŔ èüđĻ a÷ĒsđĀ üĉtĒŔ aüĒėn àĘākĒí 
ČĒôĆtĒŀ íđćûąđĆ ŗāÿđĀ ð÷íšėĊ ŗāüĒĂĉĒpĒkĔnļ? 

 1. ČĒĘíŗnēíĖü àďĕŗüû ŗāŗíĒĆíĊƧąđĆĒ i-ïĘČûŒďĒėn 
ďÝĘĆđôĀÝ 

 2. iŒĂœĘąĎŒ ĘíćĊ ąĒĎŒ (éėíeÝ) ĘāđĉĔll ďřĆÝĄćû 
èôŒďĒíĊĒŔ ĀĒnĔll čkąđĆ ďđĘŠüĒí āĒnĔû 

 3. ėāđüĔ ĘďČĀ ČĒüćû pđƃĝ ĘĂđąĔíŕkđĆĒ ďříđćŖ é÷Ē 
ėČŪœąđėć ąđŗüÝ àŗčĆĒkŔ 

 4. āĞć ĘďČĀšŕ ùĒôĒęƃŏ ėòyƧnüĒŔ üĘdč ďřĆÝĄćû 
sđāĀšĊƧė÷ (eŔeŏôĒé) ďôēČ āŠđĊĒtÝ 

 ąĔíĊĒŔ ĀŔíĒĆĒćĒkĔn ŗāŏüđČĀíĊĒŔ èüđĻ čćĒ? 

(A) 1, 2, 4 ąđŗüÝ (B) 2, 3 ąđŗüÝ 

(C) 1, 3 ąđŗüÝ (D) 1, 2, 3, 4 

18. 2024-Ŕ, ĘíćĊ ďœkđœ "íđĉđČsđ ŗāüĒĘćđÿ ĘíćĊ iĀĒĘĎŖƃēŌ" 
(CRKI) àćÝĄĒcƧ, iļ ďÝsđĀtĒėn þĔćn ďđÿŖü íĔĈņkŔ, ďĔsĒć 
ČĒíďĀ ĉkŖšŕ enĒČĆĔąđĆĒ ĘĆđôĒkĔnĔ. ĘíćĊtĒėn 
ĄćûtĒėnĆĔÝ àďĕŗüû ďÝČĒÿđĀtĒėnĆĔÝ āƆđtĉtĒŔ â 
ďÝćÝĄėtpƃĒ üđėċpĈĆĔn ďČĒĘčĎüíĊĒŔ èüđĻ čćĒĆđĆĒ 
ČĒČćĒkĔnļ? 

 1.  íđĉđČsđ ėāđćĔtėp÷ĔtŔ üŗnšėĊ iļ ĘĀćĒŨĝ üĘdč 
ďřĆÝĄćû (LSG) üĉ ādüĒíĊĒĘĉkĝ ďÝĘĆđôĒpĒkĔnĔ. 

 2. iļ ĘíćĊ ďÝsđĀ þĔćn ĀĒČđćû aĘüđĈĒƃĒ (KSDMA) 
èĘíđāĒpĒkĔíĆĔÝ ĘĉđíăđŠĝ ąđŗüÝ ÿĀďĐđĆÝ ĀŔíĔíĆĔÝ 
ėòyƧnĔ. 

 3.  þĔćn ďđÿŖüĆĔll ĘąîĉíŕkĔll Āēœt÷ aÿĒŎøĒü 
ČĒíďĀtĒĀĔÝ ŗāíĖüĒ a÷ĒsđĀąđkĒĆĔll āćĒĐđćšŕkĔÝ iļ 
änŔ ĀŔíĔnĔ. 

 4.  ôĒĉīđüĉ àďĕŗüûtĒŔ íđĉđČsđ þĔœăĉüđ ďĕòĒíĆĔė÷ 
uāĘĆđïÝ iļ ĀĒœănąđkĔnĔ. 

 ąĔíĊĒŔ ĀŔíĒĆĒćĒkĔn ŗāŏüđČĀíĊĒŔ èüđĻ čćĒ? 

(A) 1, 2, 4 ąđŗüÝ (B) 1, 3, 4 ąđŗüÝ 

(C) 2, 3 ąđŗüÝ (D) 1, 4 ąđŗüÝ 
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19. Consider the following statements regarding the Kyoto Protocol: 

1. The Kyoto Protocol is an international treaty that commits its parties to reduce 
greenhouse gas emissions. 

2. It was adopted in 1997 and entered into force in 2005. 

3. The United States ratified the Kyoto Protocol and played a leading role in its 
implementation. 

Which of the above statements is/are Correct? 

(A) 1 and 2 only (B) 2 and 3 only  

(C) 1 and 3 only (D) All of the above 

20. Properties of cardiac muscle cells given below: 

1. Cardiac muscle cells are unbranched and contain single nucleus 

2. It is striated and involuntary 

3. It is supplied with autonomic nerve fibres 

4. Intercalated disc is a thin and single membranous structure 

Which of the above statements is/are NOT Correct? 

(A) 1, 3 and 4 (B) 2 and 4 only 

(C)  1 and 4 only (D) 1, 2, and 3 

21. Consider the following table with vitamins and their deficiency diseases 

 Vitamins  Deficiency diseases 

(i) Thiamine (1) Rickets 

(ii) Calciferol (2) Scurvy 

(iii) Retinol (3) Beriberi 

(iv) Vitamin C  (4) Pellagra 

(v) Niacinamide (5) Nyctalopia  

Which of the following combinations given below is Correct? 

(A) (i)-(3), (ii)-(1), (iii)-(5), (iv)-(2), (v)-(4)   

(B) (i)-(5), (ii)-(2), (iii)-(3), (iv)-(1), (v)-(4)  

(C) (i)-(4), (ii)-(2), (iii)-(1), (iv)-(5), (v)-(3)   

(D) (i)-(3), (ii)-(5), (iii)-(4), (iv)-(2), (v)-(1) 
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19. ĘíŖđĘŨđ ĘŗāđĘŨđĘkđĊĒėĀkĔĈĒcƧll üđėċpĈĆĔn ŗāŏüđČĀíŕ 
āćĒïûĒkĔí : 

 1.  ĐćĒüïĖĐ Čđüí uľČąĀÝ íĔĈņkĔnüĒŀ aüĒėn íkĒíėĊ 
ŗāüĒjđădćđkĔn oćĔ anđćđŗƈ u÷m÷ĒĆđĻ ĘíŖđĘŨđ 
ĘŗāđĘŨđĘkđŕ 

 2. iļ 1997-Ŕ aÝïēíćĒkĔíĆĔÝ 2005-Ŕ ŗāđăĉŖtĒŔ ČćĒíĆĔÝ 
ėòņüĔ. 

 3.  ĆĔęûƃĹ Ęsƃĝŏ ĘíŖđĘŨđ ĘŗāđĘŨđĘkđŕ aÝïēíćĒkĔíĆĔÝ aļ 
Ā÷pĒĉđkĔnüĒŔ oćĔ ŗāÿđĀ āŠĝ ČĐĒkĔíĆĔÝ ėòņüĔ. 

 ąĔíĊĒŔ āĈŧ ŗāŏüđČĀíĊĒŔ èüđĻ čćĒ? 

(A) 1, 2 ąđŗüÝ (B) 2, 3 ąđŗüÝ 

(C) 1, 3 ąđŗüÝ (D) ĘąŔpĈŧČėĆĉīđÝ 

20. üđėċ ĐĖþĆĘāčĒ ĘíđčšĊƧė÷ ïĔûČĒĘčĎüíŕ ĀŔíĒĆĒćĒkĔnĔ : 

 1.  ĐĖþĆĘāčĒ Ęíđčšŕ čđîíĊĒĉīđtČĆđĻ, aČĆĒŔ oƃ 
ĀŖĕkĒĆŏ a÷šĒĆĒćĒkĔnĔ 

 2. iļ ČćĆĔllüĔÝ aĀĒĆŗnĒüČĔąđĻ 

 3. iļ ëĘŨđûąĒĭ ĀđùĒ ĀđćĔíĊđŔ ďjēíćĒcĒćĒkĔnĔ 

 4. inœíĘĉƃĹ ùĒŏĭ ĘĀœtüĔÝ oƃ ėąÝŗăûŏ ð÷ĀĆĔllüĔąđĻ 

 ąĔíĊĒŔ āĈŧ ŗāŏüđČĀíĊĒŔ čćĒĆĉīđtļ èüđĻ? 
(A) 1, 3, 4 (B) 2, 4 ąđŗüÝ 
(C)  1, 4 ąđŗüÝ (D) 1, 2, 3 

21. ČĒƃđąĒĀĔíĊƧÝ aČĆĔė÷ íĔĈČĔąĕĉąĔŪđíĔn ĘćđïšĊƧÝ a÷šĒĆ 
üđėċpĈĆĔn āŨĒí āćĒïûĒkĔí : 

 ČĒƃđąĒĀĔíŕ  íĔĈČĔąĕĉąĔŪđíĔn Ęćđïšŕ 
 (i)  üĆđąĒŒ  (1)  ĈĒkƃƧíŕ 
 (ii)  íđŔďĒėĂĘĈđŕ (2)  ŏíœČĒ 
 (iii)  ėĈƃĒĘĀđŕ  (3)  ėăĈĒėăĈĒ 
 (iv)  ČĒƃđąĒŒ ďĒ  (4)  ėāĉīŗï  
 (v)  ĀĒĆđďĒĀđęąĹ  (5)  ęĀĭ÷ĘĉđpĒĆ 

 üđėċ ĀŔíĒĆĒćĒkĔn ĘíđmĒĘĀĎĀĔíĊĒŔ èüđĻ čćĒ? 

  (A) (i)-(3), (ii)-(1), (iii)-(5), (iv)-(2), (v)-(4)  
  (B) (i)-(5), (ii)-(2), (iii)-(3), (iv)-(1), (v)-(4)  
  (C) (i)-(4), (ii)-(2), (iii)-(1), (iv)-(5), (v)-(3)   
  (D) (i)-(3), (ii)-(5), (iii)-(4), (iv)-(2), (v)-(1) 
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22. Consider the following statements regarding amino acids 

I. Leucine, Isoleucine and Valine are non-essential amino acids 

II. Glycine is the smallest amino acid  

III. Cystine and Methionine are sulphur containing amino acids 

Which of the above statements is/are Correct? 

(A) I only (B) II and III only 

(C) I and III only (D) All of the above 

23. Consider the following statements about diabetes mellitus: 

1. Diabetes mellitus is a metabolic disorder characterized by high blood sugar levels 
over a prolonged period. 

2. Type 1 diabetes is caused by the autoimmune destruction of insulin-producing cells 
in the pancreas. 

3. Type 2 diabetes is primarily caused by a viral infection in the liver. 

Which of the above statements is/are Correct? 

(A) 1 and 2 only (B) 2 and 3 only 

(C) 1 and 3 only (D) 1, 2, and 3 

24. Kala-azar disease caused by 

(A)  Salmonella typhimurium (B) Varicella zoster 

(C) Flavivirus (D) Leishmania donovani 

25. Which of the following statement/s is/are True? 

I. Nayanamritham 2.0 is an AI powered eye screening initiative of Kerala 
government.  

II. This is the first government AI assisted screening programme to identify diseases 
like glaucoma, diabetic retinopathy and age-related macular degeneration. 

III. Nayanamritham 2.0 enhancing convenience, efficiency and cost-effectiveness by 
incorporating Remidio’s AI technology into the healthcare system. 

(A) I and II only (B) I only 

(C) I and III only (D) All of the above 
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22. aąĒĘĀđ àďĒùĔíėĊkĔĈĒcƧll üđėċpĈĆĔn ŗāŏüđČĀíŕ 
āćĒïûĒkĔí : 
I.  ĉŖĕďĒŒ, éĘďđĉĕďĒŒ, ČđęĉŒ enĒČ aČčŖąĉīđt aąĒĘĀđ 

àďĒùĔíĊđĻ 
 II. ęgďĒŒ èƃČĔÝ ėòĈĒĆ aąĒĘĀđ àďĒùđĻ 
 III. ďĒsēŒ, ėąýĒĘĆđĀĒŒ enĒČ ďŕĂœ a÷šĒĆ aąĒĘĀđ 

àďĒùĔíĊđĻ 

 ąĔíĊĒŔ āĈŧĒćĒkĔn ŗāŏüđČĀíĊĒŔ èüđĻ čćĒ? 

(A) I ąđŗüÝ (B) II, III ąđŗüÝ 

(C) I, III ąđŗüÝ (D) ĘąŔpĈŧČėĆĉīđÝ 

23. ŗāĘąĐėtkĔĈĒcƧll üđėċpĈĆĔn ŗāŏüđČĀíŕ āćĒïûĒkĔí : 
 1. þēœðíđĉĘtkĝ uĆœn ćktĒėĉ āŦďđćĆĔė÷ aĊŌ 

íđûėp÷Ĕn oćĔ uāđāòĆ ęČíĉŖąđĻ ŗāĘąĐÝ. 
 2.  āđŒŗíĒĆđďĒėĉ iŒďĔĉĒŒ uļāđþĒpĒkĔn ĘíđčšĊƧė÷ 

 ëĘŨđimŖĕő ĀđčÝ ąĕĉąđĻ ę÷pĝ 1 ŗāĘąĐÝ uŪđíĔnļ. 
 3. ę÷pĝ 2 ŗāĘąĐÝ ŗāÿđĀąđĆĔÝ íćĊĒŔ oćĔ ęČĈŔ aûĔăđÿ 

ąĕĉąđĻ uŪđíĔnļ. 

 ąĔíĊĒŔ āĈŧ ŗāŏüđČĀíĊĒŔ èüđĻ čćĒ? 

(A) 1, 2 ąđŗüÝ (B) 2, 3 ąđŗüÝ 

(C) 1, 3 ąđŗüÝ (D) 1, 2, 3 

24. íđĉđ-aďœ ĘćđïÝ ąĕĉąĔŪđíĔnļ : 
(A) ďđŔėąđėûĉī ę÷ĂĒąĕĈĒĆÝ (B) ČđćĒėďĉī Ęďđsœ 

(C) ƘđČĒęČĈŏ (D) ĉēŎąđĀĒĆ ĘùđĘûđČđĀĒ 

25. üđėċpĈĆĔn ŗāŏüđČĀíĊĒŔ èüđĻ čćĒ? 

I ĀĆĀđąĖüÝ 2.0 ĘíćĊ ďœkđćĒėn oćĔ AI āČœ ĘĀŗü āćĒĘčđÿĀđ 
ďÝćÝĄąđĻ.  

 II  ĘgđĘkđą, ùĆăƃĒĭ ėĈƃĒĘĀđpüĒ, ŗāđĆČĔąđĆĒ ănėpŨ ąđkĔĉđœ 
ùēôĀĘĈĎŒ üĔ÷šĒĆ Ęćđïšŕ üĒćĒcĈĒĆĔnüĒĀĔll àþŖėt 
ďœkđœ AI ďĐđĆĘtđė÷ĆĔll ŏŗíēĀĒÝį ĘŗāđŗïđąđûĒļ. 

 III ėĈąĒùĒĘĆđĆĔė÷ AI ďđĘŠüĒíČĒþŖ àĘćđïŖ ďÝćkû 
ďÝČĒÿđĀtĒŔ uŕėp÷ĔtĒ ďĞíćŖÝ, íđćŖkąü, ėòĉŌ-ĂĉŗāđŁüĒ 
enĒČ ČœdĒpĒkĔn ĀĆĀđąĖüÝ 2.0. 

(A) I, II ąđŗüÝ (B) I ąđŗüÝ 

(C) I, III ąđŗüÝ (D) ĘąŔpĈŧČėĆĉīđÝ 
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26. What is the largest number not in the form yx 85 + , where x and y are non negative 

integers? 

(A)  14  

(B) 37 

(C) 27  

(D) No such number exist 

27. A can finish a work in 10 days. B can finish the same work in 15 days. B starts the work 

for 5 days and then A completes the work. How many days did A work? 

(A)  4 (B) 5 

(C) 6 (D) 7 

28. A train 150 m long is running at a speed of 72 km/h. How long will it take to cross a man 

running at 6 km/h in the same direction? 

(A)  8.2 sec (B) 9 sec 

(C) 8.7 sec (D) 7.7 sec 

29. Two towns A and B are 120 km apart. A car starts from A towards B at 55 km/h. At the 

same time another car starts from B towards A at 45 km/h. When will they meet? 

(A) 70 min (B) 72 min 

(C)  83 min (D) 85 min 

30. If the sum of first three terms of a geometric progression (GP) is 21 and their product is 

216. Then what is the common ratio? 

(A)  3 (B) 5 

(C) 4 (D) 2 
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26. x uÝ y uÝ ėĀïƃēŌ aĉīđt āĕœŬďÝîŖíĊđĻ eŠĒŔ  yx 85 +  en 
ćĕātĒŔ iĉīđt èƃČĔÝ ČĉĒĆ ďÝîŖ èüđĻ? 

  (A) 14    

  (B) 37 

  (C) 27    

  (D) atćėąđćĔ ďÝîŖ ĀĒĉČĒĉĒĉī 

27. A ņkĝ oćĔ ĘôđĉĒ 10 þĒČďÝ ėíđŪĝ āĕœtĒĆđkđŒ íċĒĆĔÝ. B ņkĝ 
aĘü ĘôđĉĒ 15 þĒČďÝ ėíđŪĝ āĕœtĒĆđkđŒ íċĒĆĔÝ. B, 5 þĒČďÝ 

ėíđŪĝ ĘôđĉĒ àćÝĄĒkĔíĆĔÝ üĔ÷œnĝ A ĘôđĉĒ āĕœtĒĆđkĔíĆĔÝ 
ėòyƧnĔ. A eŗü þĒČďÝ ĘôđĉĒ ėòņüĔ? 

(A)  4 (B) 5 

(C) 6 (D) 7 

28. 150 ąēƃœ ĀēĊąĔll oćĔ ėŗ÷ĆĒŒ 72 íĒĘĉđąēƃœ/ąûĒkĕœ ĘČïüĆĒŔ 
ë÷ĔnĔ. oĘć þĒčĆĒŔ 6 íĒĘĉđąēƃœ/ąûĒkĕœ ĘČïüĆĒŔ ë÷Ĕn oćđėĊ 
ąĈĒí÷kđŒ eŗü ďąĆėą÷ĔkĔÝ? 

(A)  8.2 ėďknĝ (B) 9 ėďknĝ 

(C) 8.7 ėďknĝ (D) 7.7 ėďknĝ 

29. A, B enē ćŪĝ āŨûšŕ 120 íĒĘĉđąēƃœ aíĉtĒĉđĻ. oćĔ íđœ  
A ĆĒŔ ĀĒnĝ B ĆĒĘĉkĝ ąûĒkĕĈĒŔ 55 km/h ĘČïüĆĒŔ àćÝĄĒkĔnĔ. 
aĘü ďąĆÝ ąėƃđćĔ íđœ B ĆĒŔ ĀĒnĝ A ĆĒĘĉkĝ ąûĒkĕĈĒŔ 45 km/h 
ĘČïüĆĒŔ àćÝĄĒkĔnĔ. aČ eĘpđŕ íŪĔąĔŨƧÝ? 

(A)  70 ąĒĀĒƃĝ (B) 72 ąĒĀĒƃĝ 

(C) 83 ąĒĀĒƃĝ (D) 85 ąĒĀĒƃĝ 

30. oćĔ ôŖđąĒüēĆ ĘŗāđŗïĎėn (GP) àþŖ ąĕnĝ āþšĊƧė÷ àėítĔí  
21 uÝ aČĆĔė÷ ïĔûĀĂĉÝ 216 uÝ àėûŠĒŔ ėāđüĔ aĀĔāđüÝ eŗü? 

(A) 3 (B) 5 

(C) 4 (D) 2 
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31. Find the odd one out: 

(A)  36 (B) 49 

(C) 64 (D) 81 

32. If LION is coded as PNKQ, what will be the code of TIGER? 

(A)  VNTGI (B) VKTGI 

(C) TVKIG (D) GKITN 

33. LION : Carnivore : : COW :    

(A)  Mammal (B) Omnivore 

(C) Herbivore (D) Reptile 

34. At 3.45 AM what is the angle (in degree measurement) between hour needle and minute 
needle in an ordinary clock? 

(A)  157.5 (B) 180 

(C) 156.5 (D) 167.5 

35. What is the remainder when 17103 is divided by 5? 

(A) 4 (B) 3 

(C)  2 (D) 1 

36. Whoever entices a child out of the keeping of _________ without the consent, is said to 
have caused kidnapping. 

(A) Father (B) Mother 

(C) Parents (D) Lawful Guardian 

37. Which of the following is not an element of offence of trafficking in person? 

(A)  Exploitation (B) Consent 

(C)  Abuse of power (D) Use of threats 
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31. oƃĆđėĀ íėŪtĔí : 

(A)  36 (B) 49 
(C) 64 (D) 81 

32. LION ėĀ PNKQ àĆĒ ĘíđĹ ėòņüđŔ TIGER ėn ĘíđĹ enđĆĒćĒkĔÝ?  

(A)  VNTGI (B) VKTGI 

(C) TVKIG (D) GKITN 

33. ďĒÝĐÝ : ąđÝďĘĄđôĒ : : āčĔ : 

(A)  ďŏüĀĒ (B) ďœČĘĄđôĒ 

(C) ďďŖĄĔkĝ (D) ućïÝ 

34. oćĔ ďđÿđćû ĘkđkĒŔ āĔĉœėc 3.45 ŀ ąûĒkĕœ ďĕòĒkĔÝ ąĒĀĒƃĝ 
ďĕòĒkĔÝ i÷ĆĒĉĔll Ęíđő (ùĒŗïĒ aĊČĒŔ) eŗüĆđĻ? 

(A)  157.5 (B) 180 
(C) 156.5 (D) 167.5 

35. 17103 ėĀ 5 ėíđŪĝ ĐćĒkĔĘmđŕ íĒŨƧn čĒƈÝ eŗüĆđĻ? 

(A)  4 (B) 3 

(C) 2 (D) 1 

36. ďmüąĒĉīđėü ____________ ėn ďÝćkûtĒŔ ĀĒnĝ oćĔ íĔŨĒėĆ 
ŗāĘĉđĄĒpĒkĔnĆđŕ üŨĒėkđŪĔĘāđíĉĒŀ íđćûkđćĀđĆĒ 
íûkđkėp÷ĔnĔ. 

(A)  āĒüđŌ  

(B) am 

(C) ąđüđāĒüđkŕ  

(D) ĀĒĆąāćąđĆ ćkđÿĒíđćĒ 

37. üđėċpĈĆĔnČĆĒŔ èüđĻ ČŖkĒėĆ í÷tŔ íĔƃíĖüŖtĒėn 
ð÷íąĉīđtļ? 

(A) òĕĎûÝ (B) ďmüÝ 

(C) aÿĒíđć þĔœČĒĀĒĘĆđïÝ (D) ĄēĎûĒíĊƧė÷ uāĘĆđïÝ 
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38. Defence of insanity can be granted when it is proved that a person at the time of doing 
an act by reason of unsoundness of mind was incapable of knowing    

(A) nature of the act   

(B) that what he is doing is wrong 

(C) that what he is doing is contrary to law   

(D) either (A), (B) or (C)  

39. Which of the following will not fall under the offence of stalking? 

(A) Following a woman   

(B) Monitoring the use of internet by a woman  

(C) Capturing image of a woman engaging in a private act 

(D) Contacting a woman to foster personal interaction 

40. Which of the following is/are correct about private defence? 

(i) Private defence is available with respect to harm to body only 

(ii) Private defence is available with respect to harm to body and property 

(iii) Private defence is available only when there is no time to have recourse to the 
protection of public authorities 

(iv) Private defence is available against persons of unsound mind 

(A) Only (i) is correct   

(B) Only (ii) is correct  

(C) Both (i) and (iii) are correct   

(D) Options (ii), (iii) and (iv) are correct 

41.  Which of the following is not correct in respect of confessions recorded by the magistrate 
under the provisions of BNSS? 

(A) Before recording the confession, Magistrate shall inform the person that he is 
not bound to make a confession   

(B) Magistrate shall warn the person that confession recorded may be used as 
evidence against him  

(C) The person shall be sent to police custody after the confession is recorded 

(D) The statement shall be signed by the person making the confession  
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38. ąđĀďĒíđČs üíćđĈĒĉđĆüĒĀđŔ oćĔ ŗāČĖtĒ ėòyƧĘmđŕ oćđŕkĝ 
aüĒėĀkĔĈĒcĝ aĈĒĆđŒ íċĒĆĒėĉīnĝ ėüĊĒĆĒkėp÷ĔĘmđŕ ŗĄđnĒėĀüĒėć 
ŗāüĒĘćđÿÝ ĀŔíđČĔnüđĻ : 

(A)  ŗāČĖtĒĆĔė÷ ďřĄđČÝ  

(B) aĆđŕ ėòyƧnļ ėüƃđėûnĝ 
(C) aĆđŕ ėòyƧnļ ĀĒĆąČĒćĔdąđėûnĝ 
(D) (A), (B) aėĉīŠĒŔ (C)  

39. üđėċpĈĆĔnČĆĒŔ èüđĻ āĒnĔ÷ćŔ íĔƃtĒŀ íēċĒŔ Čćđtļ? 

(A) oćĔ ŏŗüēėĆ āĒnĔ÷ćŔ  

(B) oćĔ ŏŗüēĆĔė÷ inœėĀƃĝ uāĘĆđïÝ ĀĒćēkĒkŔ 

(C) oćĔ ďříđćŖ ŗāČĖtĒĆĒŔ èœėp÷Ĕn oćĔ ŏŗüēĆĔė÷ òĒŗüÝ 
āíœtŔ  

(D) ČŖkĒāćąđĆ i÷ėā÷Ŕ ČĊœtĔnüĒĀđĆĒ oćĔ ŏŗüēėĆ 
ănėp÷Ŕ 

40. ďříđćŖ ŗāüĒĘćđÿėtkĔĈĒcĝ üđėċpĈĆĔnČĆĒŔ èüđĻ čćĒ? 

 (i) čćēćtĒŀ ĐđĀĒíćąđĆ íđćŖšĊĒŔ ąđŗüÝ ďříđćŖ ŗāüĒĘćđÿÝ 
ĉĄŖąđĻ 

 (ii) čćēćtĒĀĔÝ ďřtĒĀĔÝ ĐđĀĒíćąđĆ íđćŖšĊĒŔ ďříđćŖ ŗāüĒĘćđÿÝ 
ĉĄŖąđĻ 

 (iii) ėāđüĔ aÿĒíđćĒíĊƧė÷ ďÝćkûÝ Ęü÷đŒ ďąĆąĒĉīđtĘpđŕ ąđŗüĘą 
ďříđćŖ ŗāüĒĘćđÿÝ ĉĄŖąđíĕ 

 (iv) ąđĀďĒíđČsĆĒĉīđt ČŖkĒíŕėküĒėć ďříđćŖ ŗāüĒĘćđÿÝ 
ĉĄŖąđĻ 
(A) (i) ąđŗüąđĻ čćĒ (B) (ii) ąđŗüąđĻ čćĒ 
(C) (i), (iii) čćĒĆđĻ (D) (ii), (iii), (iv) čćĒĆđĻ 

41. ăĒeŒeŏeŏ ČŖČsíŕ ŗāíđćÝ ąôĒŏĘŗ÷ƃĝ Ęćîėp÷ĔtĒĆ 
íĔƃďmüšĊƧė÷ íđćŖtĒŔ üđėċpĈĆĔnČĆĒŔ èüđĻ čćĒĆĉīđtļ? 

(A)  íĔƃďmüÝ Ęćîėp÷ĔtĔnüĒŀ ąĔmĝ, ąôĒŏĘŗ÷ƃĝ ČŖkĒėĆ 
íĔƃďmüÝ Ā÷tđŒ ăđÿŖsĀėĉīnĝ aĈĒĆĒkûÝ 

(B) Ęćîėp÷ĔtĒĆ íĔƃďmüÝ aĆđŕėküĒėć ėüĊĒČđĆĒ 
uāĘĆđïĒkđėąnĝ ąôĒŏĘŗ÷ƃĝ à ČŖkĒkĝ ąĔnĈĒĆĒpĝ ĀŔíûÝ 

(C) íĔƃďmüÝ Ęćîėp÷ĔtĒĆ ĘčĎÝ ČŖkĒėĆ Ęāđĉēŏ ísùĒĆĒŔ 
aĆņkĔÝ  

(D) íĔƃďmüÝ Ā÷tĔn ČŖkĒ ŗāŏüđČĀĆĒŔ opĒ÷ûÝ 
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42.  Warrant case means 

(A) Offence punishable with death   

(B) Offence punishable with life imprisonment  

(C) Offence punishable with imprisonment exceeding seven years 

(D) Offence punishable with death, life imprisonment for life or with 

imprisonment for a term exceeding two years 

43.  Which of the following is not a valid requirement for an FIR? 

(A) It must disclose the commission of a cognizable offence 

(B) It must be given orally or in writing or by electronic means 

(C) It must be given by the victim of crime  

(D) It must be signed 

44. Any statement made orally or in writing to a magistrate with a view to his action under 

Bharatiya Nagarik Suraksha Sanhita, alleging that some person known or unknown has 

committed an offence is known as  

(A) FIR (B) Complaint 

(C) Police report (D) Summons 

45. A person having knowledge of the commission of which of the following offence has a 

duty to give information to the nearest magistrate or police officer. 

(A) Bribery  

(B) Grievous Hurt 

(C) Wrongful Restraint  

(D) Counterfeiting coins 
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42. ČđĈnĝ Ęíŏ enđŔ 

(A)  ČÿčĒk ĉĄĒkđČĔn íĔƃíĖüŖÝ 

(B) ôēČāćŖnÝ ü÷Ō ĉĄĒkđČĔn íĔƃíĖüŖÝ 

(C) èŋ ČœĎtĒŔ íĕ÷ĔüŔ ü÷Ō ĉĄĒkđČĔn íĔƃíĖüŖÝ  

(D) ČÿčĒk, ôēČāćŖnÝ ü÷Ō aėĉīŠĒŔ ćŪĝ ČœĎtĒŔ íĕ÷ĔüŔ 
ü÷Ō ĉĄĒkđČĔn íĔƃíĖüŖÝ 

43. ełé àĈĒŀ ďđÿĔČđĆ àČčŖíüĆĉī 

(A)  oćĔ ĘíđgĒďăĒŕ íĔƃíĖüŖtĒėn íœmÝ aļ ėČĊĒėp÷ĔtûÝ 

(B) aļ ČđėąđċĒĆđĘĆđ eċĔtĔČċĒĘĆđ iĉĭĘŗ÷đûĒĭ 
ąđœïšĊĒĉĕė÷ĘĆđ ĀŔíûÝ 

(C) íĔƃíĖüŖtĒŀ ićĆđĆĆđŕ aļ ĀŔíûÝ  

(D) aüĒŔ opĒ÷ûÝ  

44. ĄđćüēĆ ĀđïćĒĭ ďĔćkđ ďÝĐĒü ŗāíđćÝ, aĈĒĆėp÷ĔnĘüđ 
aĈĒĆđtĘüđ àĆ àėćŠĒĉĔÝ oćĔ íĔƃíĖüŖÝ ėòņüĔėČnĝ àĘćđāĒcĝ, 
oćĔ ąôĒŏĘŗ÷ƃĒŀ ČđėąđċĒĆđĘĆđ ĘćîđąĕĉĘąđ ĀŔíĔn èėüđćĔ 
ŗāŏüđČĀĆĔÝ aĈĒĆėp÷Ĕnļ   

(A)  ełéàœ (B) āćđüĒ 

(C)  Ęāđĉēŏ ĈĒĘpđœŨĝ (D) ďąŒŏ 

45. üđėċpĈĆĔn íĔƃíĖüŖšĊĒŔ èüđėûnĝ aĈĒĆđČĔn oćđŕkĝ 
a÷ĔtĔll ąôĒŏĘŗ÷ƃĒĘĀđ Ęāđĉēŏ uĘþŖđïsĘĀđ ČĒČćÝ ĀŔĘíŪ 
ăđÿŖüĆĔŪĝ. 

(A)  ęíkĕĉĒ  

(B) ïĔćĔüćąđĆ ĘČþĀ 

(C)  ėüƃđĆ ĀĒĆŗnûÝ  

(D) ČŖđô ĀđûĆšŕ ĀĒœmĒkŔ 
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46. Which of the following statements is correct as per the Bharatiya Sakshya Adhiniyam 

2023? 

(A) Evidence includes only oral statements made by witnesses in physical 

presence before the court 

(B) Evidence means all statements including electronic or digital records 

(C) Evidence includes oral statements permitted by the court and documents 

including electronic or digital records   

(D) Evidence includes all oral statements and documents including by electronic 

or digital records adduced by parties 

47. Which of the following statements is correct regarding admissibility of a co-accused’s 

confession? 

(A) A confession by B that “A and I murdered C” is admissible against A even if  

A and B are not being tried jointly   

(B) A confession by A that “B and I murdered C” can be used against B only if  

A and B are jointly tried for the offence 

(C) Confession of one absconding accused can never be used in trial 

(D) The confession of a co-accused is considered primary evidence 

48. In a suit for declaration of legitimacy, A claims to be the legitimate son of B. The court 

considers that A was consistently treated as B’s son by B’s siblings and cousins. Which of 

the following best explains the admissibility of this evidence under the Bharatiya 

Sakshya Adhiniyam, 2023? 

(A) The treatment by B’s relatives is irrelevant since only the father’s declaration 

is admissible 

(B) The conduct of family members with special knowledge of the relationship is 

relevant to show the existence of such a relationship 

(C) The conduct is hearsay and inadmissible 

(D) Legitimacy cannot be proved without DNA evidence or documentary proof 
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46. ĄđćüēĆ ďđkŖ aÿĒĀĒĘČčÝ 2023 ŗāíđćÝ üđėċ āĈĆĔn 
ŗāŏüđČĀíĊĒŔ èüđĻ čćĒ? 

(A) Ęíđ÷üĒkĝ ąĔmđėí ďđkĒíŕ Ā÷tĔn ČđėąđċĒ ŗāŏüđČĀíŕ 
ąđŗüąđĻ ėüĊĒČĒŔ uŕėp÷Ĕnļ  

(B) iĉĭĘŗ÷đûĒĭ aėĉīŠĒŔ ùĒôĒƃŔ Ęćîíŕ uŕėpė÷ĆĔll eĉīđ 
ŗāŏüđČĀíĊƧÝ ėüĊĒČĒŔ uŕėp÷ĔnĔ 

(C) Ęíđ÷üĒ aĀĔČþĒc ČđėąđċĒ ŗāŏüđČĀíĊƧÝ iĉĭĘŗ÷đûĒĭ 
aėĉīŠĒŔ ùĒôĒƃŔ Ęćîíŕ uŕėpė÷ĆĔll ĘćîíĊƧÝ ėüĊĒČĒŔ 
uŕėp÷ĔnĔ  

(D) íkĒíŕ ĐđôćđkĒĆ iĉĭĘŗ÷đûĒĭ aėĉīŠĒŔ ùĒôĒƃŔ 
Ęćîíŕ uŕėpė÷ĆĔll eĉīđ ČđėąđċĒ ŗāŏüđČĀíĊƧÝ 
ĘćîíĊƧÝ ėüĊĒČĔíĊĒŔ uŕėp÷ĔnĔ 

47. oćĔ ďĐŗāüĒĆĔė÷ íĔƃďmüÝ aÝïēíćĒkĔnüĔąđĆĒ ănėpŨĝ üđėċ 
āĈĆĔn ŗāŏüđČĀíĊĒŔ èüđĻ čćĒ? 

(A)  AĆĔÝ BĆĔÝ ďÝĆĔkąđĆĒ ČĒòđćû ėòyėp÷ĔnĒėĉīŠĒĉĔÝ "AĆĔÝ 
IĆĔÝ CėĆ ėíđĉėp÷ĔtĒ" en BĆĔė÷ íĔƃďmüÝ AņėküĒėć 
ďřēíđćŖąđĻ  

(B) "BĆĔÝ IĆĔÝ CėĆ ėíđĉėp÷ĔtĒ" en AĆĔė÷ íĔƃďmüÝ, AĆĔÝ 
BĆĔÝ ďÝĆĔkąđĆĒ íĔƃÝ òĔątĒĆđŔ ąđŗüĘą BėküĒėć 
uāĘĆđïĒkđŒ íċĒĆĕ 

(C) oĊĒČĒŔ íċĒĆĔn oćĔ ŗāüĒĆĔė÷ íĔƃďmüÝ oćĒkĉĔÝ 
ČĒòđćûĆĒŔ uāĘĆđïĒkđŒ íċĒĆĒĉī  

(D) oćĔ ďĐŗāüĒĆĔė÷ íĔƃďmüÝ ŗāđýąĒí ėüĊĒČđĆĒ 
íûkđkėp÷ĔnĔ 

48. ĀĒĆąďđÿĔü ŗāîŖđāĒkĔnüĒĀĔll oćĔ ĘíďĒŔ, B ĆĔė÷ ĀĒĆąđĀĔďĖü 
ąíĀđėûnĝ A aČíđčėp÷ĔnĔ. B ĆĔė÷ ďĘĐđþćšĊƧÝ íďĒŒďĔÝ A ėĆ 
B ĆĔė÷ ąíĀđĆĒ sĒćąđĆĒ āćĒïûĒcĒćĔnĔėČnĝ Ęíđ÷üĒ íćĔüĔnĔ 
ĄđćüēĆ ďđkŖ aÿĒĀĒĘČčÝ, 2023 ŗāíđćÝ â ėüĊĒČĒėn ďřēíđćŖüėĆ 
üđėċpĈĆĔnČĆĒŔ èüđĻ èƃČĔÝ ĀnđĆĒ ČĒčþēíćĒkĔnļ? 

(A) āĒüđČĒėn ŗāîŖđāĀÝ ąđŗüĘą ďřēíđćŖąđíĕ enüĒĀđŔ   
B ĆĔė÷ ănĔkĊƧė÷ ėāćĔąđƃÝ aŗāďkąđĻ  

(B) ănėtkĔĈĒcĝ ŗāĘüŖí aĈĒČĔll íĔ÷ĔÝăđÝïšĊƧė÷ 
ėāćĔąđƃÝ atćėąđćĔ ăntĒėn ĀĒĉĀĒŔpĝ íđûĒkĔnüĒŀ 
ŗāďkąđĻ 

(C) ėāćĔąđƃÝ ĘíŨƧĘíŕČĒĆĔÝ aďřēíđćŖČĔąđĻ  

(D) ùĒeŒe ėüĊĒČĔíĘĊđ ĘùđíŖĔėąnĈĒ ėüĊĒĘČđ iĉīđėü 
ĀĒĆąďđÿĔü ėüĊĒĆĒkđŒ íċĒĆĒĉī 
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49. In a boundary dispute, a party relies on a government-issued map published and sold in 

the market, showing the division between two villages. How will the court treat this map 

under Section 30 of the Bharatiya Sakshya Adhiniyam, 2023? 

(A)  The map is a relevant fact as it contains statements made in published charts 

generally offered for public sale 

(B) The map is irrelevant unless accompanied by witness testimony 

(C) The map is inadmissible unless certified by the Survey of India 

(D) The map is considered conclusive proof of the boundary 

50. An accused in police custody reveals the location of a murder weapon. The police recover 

the weapon from the place mentioned. What portion of the accused’s statement is 

admissible in court under the Bharatiya Sakshya Adhiniyam, 2023? 

(A)  The entire statement, including motive and confession 

(B) Only the part of the statement that distinctly relates to the fact discovered 

(C)  The statement is inadmissible as it was made in custody 

(D) The statement is admissible only if it was recorded by the Magistrate 

51. Which section of the RTI Act lists categories of information exempt from disclosure? 

(A) Section 6 (B) Section 8 

(C) Section 11 (D) Section 2(f) 

52. Under Section 9 of the RTI Act, an information request can be rejected if: 

(A) It is related to a third privacy  

(B) It invades personal privacy 

(C) It infringes copyright  

(D) It relates to the Parliament 

53. What is the main focus of section 11 in the RTI Act, 2005? 

(A) Public authority obligations (B) Appeal process 

(C)  Third party information (D) Suo moto disclosure 
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49. oćĔ aüĒœtĒ üœktĒŔ, oćĔ íkĒ ďœkđœ āĔĈtĒĈkĒĆ oćĔ 
Ąĕā÷ėt àŗčĆĒkĔnĔ, aļ ćŪĝ ŗïđąšŕ ümĒĉĔll ČĒĄôĀÝ 
íđûĒkĔnĔ. 2023 ėĉ ĄđćüēĆ ďđkĒ aÿĒĀĒĘČčtĒėĉ ėďkŒ 30 
ŗāíđćÝ Ęíđ÷üĒ â Ąĕā÷ėt ešėĀ āćĒïûĒkĔÝ? 

 (A) ėāđüĔ ČĒŔpĀņkđĆĒ ďđÿđćûĆđĆĒ ČđįþđĀÝ ėòyƧn 
ŗāďĒdēíćĒc òđœŨƧíĊĒŔ Ā÷tĒĆ ŗāŏüđČĀíŕ 
a÷šĒĆĒćĒkĔnüĒĀđŔ Ąĕā÷Ý oćĔ ŗāďkąđĆ ČŏüĔüĆđĻ 

 (B) ďđkĒ ďđkŖšŕėkđpÝ iėĉīŠĒŔ Ąĕā÷Ý aŗāďkąđĻ 
 (C) ďœĘČ ëł inŖ ďđkŖėp÷ĔtĒĆĒėĉīŠĒŔ Ąĕā÷Ý 

aĀĔČþĀēĆąĉī 
 (D) aüĒœtĒĆĔė÷ ĀĒœûđĆí ėüĊĒČđĆĒ Ąĕā÷Ý íûkđkėp÷ĔnĔ 

50. Ęāđĉēŏ ísùĒĆĒĉĔll oćĔ ŗāüĒ ėíđĉāđüí àĆĔÿtĒėn sđĀÝ 
ėČĊĒėp÷ĔtĔnĔ. āćđąœčĒc sĉtĝ ĀĒnĝ Ęāđĉēŏ àĆĔÿÝ 
ČēėŪ÷ĔkĔnĔ. ŗāüĒĆĔė÷ ėąđċĒĆĔė÷ èļ ĄđïąđĻ ĄđćüēĆ ďđkĒ 
aÿĒĀĒĘČčÝ, 2023 ŗāíđćÝ Ęíđ÷üĒĆĒŔ ďřēíđćŖąđíĔnļ? 

(A)  ąĔċĔČŒ ŗāŏüđČĀĆĔÝ, uĘdčŖČĔÝ íĔƃďmüČĔÝ uŕėpė÷ 
(B) íėŪtĒĆ ČŏüĔüĆĔąđĆĒ ČŖkąđĆĒ ănėpŨ ŗāŏüđČĀ 

ĆĔė÷ ĄđïÝ ąđŗüÝ 
(C) ísùĒĆĒŔ ėČcđĻ ŗāŏüđČĀ Ā÷tĒĆėünüĒĀđŔ aļ 

ďřēíđćŖąĉī  
(D) ąôĒŏĘŗ÷ƃĝ Ęćîėp÷ĔtĒĆĒŨƧėŪŠĒŔ ąđŗüĘą ŗāŏüđČĀ ďřēíđćŖ 

ąđíĕ 

51. ėČĊĒėp÷ĔtĉĒŔ ĀĒnĝ oċĒČđkĒĆ ČĒČćšĊƧė÷ ČĒĄđïšėĊ 
ČĒČćđČíđč ĀĒĆątĒėĉ èļ ČíĔpđĻ āŨĒíėp÷ĔtĒĆĒćĒkĔnļ? 

(A)  ėďkŒ 6 (B) ėďkŒ 8 
(C) ėďkŒ 11 (D) ėďkŒ 2(eł) 

52. ČĒČćđČíđč ĀĒĆątĒėĉ ėďkŒ 9 ŗāíđćÝ, oćĔ ČĒČć aĘāk 
_______ àėûŠĒŔ ĀĒćďĒkĔnĔ. 

(A)  iļ ąĕnđÝ ďříđćŖüĆĔąđĆĒ ănėpŨüđĻ  
(B) iļ ČŖkĒïü ďříđćŖüėĆ àŗíąĒkĔnĔ 
(C) iļ āíœpČíđčėt ĉÝðĒkĔnĔ  
(D) iļ āđœĉėąnƧąđĆĒ ănėpŨüđĻ 

53. 2005 ėĉ ČĒČćđČíđč ĀĒĆątĒėĉ ėďkŒ 11 ėn ŗāÿđĀ ĘĂđkŏ 
enđĆĒćĔnĔ? 

(A)  ėāđüĔ aÿĒíđć ăđÿŖüíŕ  (B) apēŔ ŗāŗíĒĆ 
(C) ąĕnđÝ íkĒ ČĒČćšŕ (D) ďřĘąÿĆđ ėČĊĒėp÷ĔtŔ 
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54. Which article deals with the Speaker’s right to vote in the Lok Sabha? 

(A) Article 86 (B) Article 97 
(C)  Article 101 (D) Article 100 

55. Under Article 101, if a Member of Parliament is absent for how many days, is their seat 
declared vacant? 

(A)  30 Days (B) 60 Days 

(C) 90 Days (D) 120 Days 

56. The GST Council was formed under which Article inserted by the 101st Constitutional 
Amendment? 

(A) Article 246 A (B) Article 269 A 

(C) Article 279 A (D) Article 280 

57. Under which Article does the President of India may address either House or both 
Houses of Parliament? 

(A)  Article 100 (B) Article 86 

(C)  Article 92 (D) Article 102 

58. Which of the following Constitutional Amendments restored the power of judicial review 
of Fundamental Rights curtailed during the Emergency? 

(A)  44th Amendment (B) 42nd Amendment 

(C)  52nd Amendment (D) 86th Amendment 

59. Under Article 106, the authority to determine salaries of Member of Parliament lies 
with: 

(A)  President (B) Prime Minister 

(C)  Parliament by law (D) Finance Commission 

60. The 105th Constitutional Amendment relates to: 

(A) Cooperative societies 

(B) Powers of President 

(C) Restoring states’ power to identify OBCs 

(D) Scrapping Article 370 
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54. ĘĉđĭďĄĆĒŔ ŏāēkĈĔė÷ ĘČđŨČíđčėtkĔĈĒcĝ ŗāüĒāđþĒkĔn 
àœŨĒkĒŕ èüđĻ? 

(A)  àœŨĒkĒŕ 86 (B) àœŨĒkĒŕ 97 
(C) àœŨĒkĒŕ 101 (D) àœŨĒkĒŕ 100 

55. àœŨĒkĒŕ 101 ŗāíđćÝ, oćĔ āđœĉėąnĝ aÝïÝ eŗü þĒČďÝ 
ĐđôćđĆĒėĉīŠĒŔ, aČćĔė÷ ďēƃĝ oċĒŧĔíĒ÷kĔnüđĆĒ ŗāîŖđāĒkđÝ? 

(A) 30 þĒČďÝ (B) 60 þĒČďÝ 

(C) 90 þĒČďÝ (D) 120 þĒČďÝ 

56. 101-LP Ąćûð÷Āđ ĘĄþïüĒ ŗāíđćÝ Ęòœt èļ àœŨĒkĒĊĒĀĔ íēċĒĉđĻ 
ôĒeŏ÷Ē íĞőďĒŔ ćĕāēíćĒcļ? 

(A)  àœŨĒkĒŕ 246 e (B) àœŨĒkĒŕ 269 e 

(C) àœŨĒkĒŕ 279 e (D) àœŨĒkĒŕ 280 

57. èļ àœŨĒkĒĊĒĀĔ íēċĒĉđĻ inŖŒ ćđŗƈāüĒkĝ āđœĉėąnĒėn 
èėüŠĒĉĔÝ ďĄėĆĘĆđ ićĔďĄíėĊĘĆđ aĄĒďÝĘăđÿĀ ėòyđŒ íċĒĆĔí? 

(A) àœŨĒkĒŕ 100 (B) àœŨĒkĒŕ 86 

(C) àœŨĒkĒŕ 92 (D) àœŨĒkĒŕ 102 

58. a÷ĒĆnćđČskđĉtĝ ėČŨĒkĔĈc ąĞĉĒíđČíđčšĊƧė÷ ôĔùēĎŖŔ 
aČĘĉđíĀtĒėn aÿĒíđćÝ āĔĀÞsđāĒcļ üđėċpĈĆĔn èļ 
Ąćûð÷Āđ ĘĄþïüĒĆđĻ? 

(A)  44-LP ĘĄþïüĒ (B) 42-LP ĘĄþïüĒ 

(C) 52-LP ĘĄþïüĒ (D) 86-LP ĘĄþïüĒ 

59. àœŨĒkĒŕ 106 ŗāíđćÝ, āđœĉėąnĝ aÝïšĊƧė÷ čmĊÝ ĀĒœŬĆĒkđĀĔll 
aÿĒíđćÝ àœkđĻ? 

(A)  ŗāďĒùnĝ (B) ŗāÿđĀąŗnĒ 
(C) ĀĒĆąŗāíđćÝ āđœĉėąnĝ (D) ÿĀíđćŖ ímēĎŒ 

60. 105-LP Ąćûð÷Āđ ĘĄþïüĒ iČĆĔąđĆĒ ănėpŨĒćĒkĔnĔ : 

(A) ďĐíćû ďÝðšŕ  

(B) ŗāďĒùnĒėn aÿĒíđćšŕ 

(C) oăĒďĒíėĊ üĒćĒcĈĒĆđĀĔll ďÝsđĀšĊƧė÷ aÿĒíđćÝ 
āĔĀÞsđāĒkŔ 

(D) àœŨĒkĒŕ 370 ĈdđkŔ 
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61. As per the provisions of the Information Technology Act, 2000, sensitive personal data or 
information shall be prescribed by the Central Government in consultation with which of 
the following : 

(A) Professional bodies or associations as it may deem fit 

(B) Parliamentary Committee constituted as per the Act 

(C) National Human Rights Commission and other NGO’s 

(D) A Committee constituted by Supreme Court of India  

62. Match List I with List II as per the provisions of Information Technology Act, 2000 : 

 List I List II 

 I. Section 66C a. Cyber Terrorism 

 II. Section 66D b. Cheating by Personation 

 III. Section 66E c. Violation of Privacy 

 IV. Section 66F  d. Identify Theft 

 (A) I-d; II-b; III-c; IV-a (B) I-a; II-b; III-c; IV-d 

(C) I-d; II-a; III-b; IV-c (D) I-d; II-c; III-b; IV-a 

63. As per the provisions of Information Technology Act, 2000, the punishment for identity 
theft is :  

(A) Imprisonment upto 2 years and fine upto one lakh rupees 

(B) Imprisonment upto 3 years and fine upto one lakh rupees 

(C) Imprisonment upto 2 years and fine upto two lakhs rupees 

(D) Imprisonment upto 3 years and fine upto two lakhs rupees 

64. What is the name of the Indian government’s official digital currency? 

(A) Bharat Coin (B) Crypto Rupee 

(C) Digital Rupee (D) e-Cash India 

65. Which Schedule of the Information Technology Act, 2000 specifies the electronic 
techniques for electronic signatures? 

(A) First Schedule (B) Second Schedule 

(C) Third Schedule (D) Fourth Schedule 
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61. 2000-ėĉ iŒĂœĘąĎŒ ė÷ĭĘĀđĊôĒ àĭ÷Ēėĉ ČŖČsíŕ ŗāíđćÝ, 
ėďŒďĒƃēŌ àĆ ČŖkĒïü ùđƃĘĆđ ČĒČćšĘĊđ Ęíŗn ďœkđœ 
üđėċpĈĆĔnČĆĒŔ èėüŠĒĉĔėąđnĔąđĆĒ íĕ÷ĒĆđĘĉđòĒcĝ 
ĀĒœĘdčĒĘkŪüđĻ : 

(A)  uòĒüėąnĝ íćĔüĔn ėŗāđĂĎûŔ sđāĀšĘĊđ 
aĘďđďĒĘĆĎĀĔíĘĊđ 

(B) àĭķ ŗāíđćÝ ćĕāēíćĒc āđœĉėąnĈĒ ímĒƃĒ 
(C) ĘþčēĆ ąĀĔĎŖđČíđč ímēĎĀĔÝ ąƃĝ eŒ ôĒ oíĊƧÝ  

(D) inŖĆĔė÷ ďĔŗāēÝ Ęíđ÷üĒ ćĕāēíćĒc oćĔ ímĒƃĒ 

62. 2000-ėĉ iŒĂœĘąĎŒ ė÷ĭĘĀđĊôĒ àĭ÷Ēėĉ ČŖČsíŕ ŗāíđćÝ  
ĉĒsĝ I ėĀ ĉĒsĝ II-ČĔąđĆĒ ėāđćĔtėp÷ĔtĔí : 

  ĉĒsĝ I  ĉĒsĝ II 
 I. ėďkŒ 66C  a.  ęďăœ Ąēíćü 
 II. ėďkŒ 66D  b.  àŕąđĈđŨÝ ČċĒĆĔll ČŦĀ 
 III. ėďkŒ 66E  c.  ďříđćŖüĆĔė÷ ĉÝðĀÝ 
 IV. ėďkŒ 66F  d.  ĘąđĎûÝ üĒćĒcĈĒĆĔí 

(A) I-d; II-b; III-c; IV-a (B) I-a; II-b; III-c; IV-d 

(C) I-d; II-a; III-b; IV-c (D) I-d; II-c; III-b; IV-a 

63. 2000-ėĉ iŒĂœĘąĎŒ ė÷ĭĘĀđĊôĒ àĭ÷Ēėĉ ČŖČsíŕ ŗāíđćÝ, 
éùnĒƃĒ ĘąđĎûtĒĀĔll čĒk iČĆđĻ : 

(A)  2 ČœĎÝ Čėć ü÷ČĔÝ oćĔ ĉkÝ ćĕā Čėć āĒċĆĔÝ 
(B) 3 ČœĎÝ Čėć ü÷ČĔÝ oćĔ ĉkÝ ćĕā Čėć āĒċĆĔÝ 

(C) 2 ČœĎÝ Čėć ü÷ČĔÝ ćŪĝ ĉkÝ ćĕā Čėć āĒċĆĔÝ  

(D) 3 ČœĎÝ Čėć ü÷ČĔÝ ćŪĝ ĉkÝ ćĕā Čėć āĒċĆĔÝ 

64. inŖŒ ďœkđćĒėn ìĘþŖđïĒí ùĒôĒƃŔ íĈŒďĒĆĔė÷ ĘāėćnđĻ? 

(A)  Ąđćļ ĘíđĆĒŒ (B) ŗíĒŁĘƃđ ĈĔpĒ 
(C) ùĒôĒƃŔ ĈĔpĒ (D) i-íŖđŎ inŖ 

65. 2000-ėĉ iŒĂœĘąĎŒ ė÷ĭĘĀđĊôĒ àĭ÷Ēėĉ èļ ėĎùŖĕĊĒĉđĻ 
iĉĭĘŗ÷đûĒĭ opƧíŕkĔll iĉĭĘŗ÷đûĒĭ ďđĘŠüĒí ČĒþŖíŕ 
ČŖkąđkĔnļ? 

(A) onđÝ ėĎùŖĕŕ (B) ćŪđÝ ėĎùŖĕŕ 

(C) ąĕnđÝ ėĎùŖĕŕ (D) ĀđĉđÝ ėĎùŖĕŕ 
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66. How many digits are there in an IMSI number used to identify a mobile subscriber? 

(A) 10 digits (B) 12 digits 

(C) 15 digits (D) 18 digits 

67. In the context of internet and mobile technology, what does the acronym GPS stand for? 

(A) Global Positioning System (B) General Packet Switching 

(C) Global Protocol Service (D) Geo-Pointing Satellite 

68. Among the following which is a variant of ‘Denial-of-Service Attacks’? 

(A) DDoS (B) DdSA 

(C) DDaS (D) DDsA 

69. Among the following Sections of the Information Technology Act, 2000 which Section 

deals with Tampering with Computer Source Code : 

(A) Section 63 (B) Section 64 

(C)  Section 66 (D) Section 65 

70. Among the following cases, in which case the Hon’ble Karnataka High Court observed 

‘ATM is not a computer by itself and it is connected to a computer that performs the 

tasks requested by the person using ATM’s’ :  

(A)  Diebold Systems Pvt. Ltd. v. The Commissioner of Commercial Taxes 

(B) Dyelord Systems Pvt. Ltd. v. The Commissioner of Commercial Taxes 

(C) Grworoot Systems Pvt. Ltd. v. The Commissioner of Commercial Taxes 

(D) Byeroot Systems Pvt. Ltd. v. The Commissioner of Commercial Taxes 

71. Which Neo-Freudian emphasized social factors and minimized Freud’s focus on sexual 

drives? 

(A)  Erik Erikson (B) Carl Jung 

(C) Alfred Adler (D) Karen Horney 



 

 

109/2025-M 

 A -33-

66. oćĔ ėąđęăŔ ČćĒkđćėĀ üĒćĒcĈĒĆđŒ uāĘĆđïĒkĔn IMSI ĀmĈĒŔ 
eŗü akšĊƧŪĝ? 

(A)  10 akšŕ (B) 12 akšŕ 

(C) 15 akšŕ (D) 18 akšŕ 

67. inœėĀƃĝ, ėąđęăŔ ďđĘŠüĒíČĒþŖĆĔė÷ āƆđtĉtĒŔ, ôĒāĒeŏ en 
òĔćĔėkċĔtĝ enĒėĀ ďĕòĒpĒkĔnĔ? 

(A)  ĘgđăŔ ėāđďĒĎĀĒÝį ďĒsÝ   
(B) ôĀĈŔ āđkƃĝ ďřĒcĒÝį 

(C) ĘgđăŔ ĘŗāđĘŨđĘkđŕ ďœČēŏ  
(D) ôĒĘĆđ-ĘāđĆĒnĒÝį ďđƃęĉƃĝ 

68. üđėċpĈĆĔnČĆĒŔ ‘Denial-of-Service Attacks’ oćĔ ČíĘĄþÝ èüđĻ? 

(A) DDoS (B) DdSA 
(C) DDaS (D) DDsA 

69. ímŖĕŨœ Ęďđŋŏ ĘíđùĒŔ íĖŗüĒąÝ íđûĒkĔnüĒėĀkĔĈĒcƧll ČíĔpĝ 
ęííđćŖÝ ėòyƧn 2000 ėĉ iŒĂœĘąĎŒ ė÷ĭĘĀđĊôĒ àĭ÷Ēėĉ ČíĔpĝ? 

(A)  ėďkŒ 63 (B) ėďkŒ 64 

(C) ėďkŒ 66 (D) ėďkŒ 65 

70. üđėċpĈĆĔn ĘíďĔíĊĒŔ, ăĐĔąđĀėpŨ íœûđ÷í ęĐĘkđ÷üĒ ‘e÷ĒeÝ 
ďřnąđĆĒ oćĔ ímŖĕŨĈėĉīnĔÝ e÷ĒemĔíŕ uāĘĆđïĒkĔn ČŖkĒ 
àČčŖėp÷Ĕn ĘôđĉĒíŕ ĀĒœČĐĒkĔn oćĔ ímŖĕŨĈĔąđĆĒ iļ 
ănĒpĒcĒŨƧėŪnĔÝ’ ĀĒćēkĒcƧ: 

(A)  ęùĘăđŕĹ ďĒsÝŏ ęŗāČƃĝ ĉĒąĒƃĹ v. ČđûĒôŖ ĀĒíĔüĒ 
ímēĎûœ 

(B) ęùĘĉđœĹ ďĒsÝŏ ęŗāČƃĝ ĉĒąĒƃĹ v. ČđûĒôŖ ĀĒíĔüĒ 
ímēĎûœ 

(C) ĘŗïđĈĕŨĝ ďĒsÝŏ ęŗāČƃĝ ĉĒąĒƃĹ v. ČđûĒôŖ ĀĒíĔüĒ 
ímēĎûœ  

(D) ęăĈĕŨĝ ďĒsÝŏ ęŗāČƃĝ ĉĒąĒƃĹ v. ČđûĒôŖ ĀĒíĔüĒ 
ímēĎûœ 

71. èļ ĀČ-ĘŗĂđĆĒùĒĆĀđĻ ďđąĕĐĒí ð÷íšŕkĝ ŗāđÿđĀŖÝ ĀŔíĔíĆĔÝ 
ęĉÝïĒí ĘŗāćûíĊĒĉĔll ĘŗĂđĆĒùĒėn ŗčd íĔĈņkĔíĆĔÝ ėòņüļ? 

(A)  eĈĒĭ eĈĒĭďő (B) íđŕ ôÝį 

(C) àŔŗĂĹ aĹĉœ (D) íđėćŒ ĐœûĒ 
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72. Gestalt psychologists studied the phi phenomenon to illustrate that : 

(A) Movement perception is learned through reinforcement 

(B) Visual illusions are due to top-down processing 

(C) We perceive motion even when no movement occurs 

(D) Perception relies solely on retinal image changes 

73. Task-switching costs occur when performance declines due to : 

(A) Divided attention across simultaneous tasks 

(B) Shifting attention between tasks 

(C) Sustained attention over time 

(D) Emotional distraction 

74. The levels of processing theory argues that memory retention depends on : 

(A) The speed of learning 

(B) The depth at which information is processed 

(C) The frequency of rehearsal 

(D) The length of the retention interval 

75. What is the Flynn effect? 

(A) The observed rise in average IQ scores over time 

(B) A type of emotional intelligence 

(C) A theory of multiple intelligences 

(D) The decline of intelligence with age 

76. During a social event, a person unconsciously mirrors the smiles and laughter of others, 

leading to shared positive emotions. This is an example of : 

(A) Emotional contagion (B) Cognitive appraisal 

(C) Affect labeling (D) Opponent-process theory 
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72. ïsđŕŨĝ ąĀÞčđŏŗüjœ ęā ŗāüĒĄđďėt āøĒcƧėíđŪĝ iļ 
ČĒčþēíćĒkĔnĔ : 

(A)  òĉĀ ÿđćû čkĒėp÷ĔtĉĒĉĕė÷ĆđĻ āøĒkĔnļ  

(B) þĖčŖ ąĒýŖđÿđćûíŕ ąĔíĊĒŔ ĀĒnĝ üđĘċkĝ ĘŗāđďsĒÝį 
ąĕĉąđĻ uŪđíĔnļ 

(C) òĉĀÝ ďÝĄČĒkđtĘpđċĔÝ Āmŕ òĉĀÝ ąĀsĒĉđkĔnĔ  

(D) ÿđćû ėĈƃĒĀ iĘąĴ ąđƃšėĊ ąđŗüÝ àŗčĆĒcĒćĒkĔnĔ 

73. ŗāí÷ĀÝ íĔĈĆĔĘmđŕ ÷đŏĭ-ďřĒcĒÝį ėòĉČĔíŕ ďÝĄČĒkĔnĔ íđćûÝ : 
(A)  oĘćďąĆÝ ĘôđĉĒíĊĒĉĕė÷ ČĒĄôĒkėpŨ ŗčd  

(B) ĘôđĉĒíŕkĒ÷ĆĒŔ ŗčd ąđƃŔ 

(C) íđĉŗíĘąû sĒćąđĆ ŗčd  

(D) ęČíđćĒí ČŖüĒòĉĀÝ 

74. ĘŗāđďsĒÝį ďĒdđntĒėn üĉšŕ ČđþĒkĔnļ ėąmĈĒ ĀĒĉĀĒœtŔ 
iČėĆ àŗčĆĒcĒćĒkĔnĔ : 

(A)  āøĀ ĘČïü  

(B) ČĒČćšŕ Ęŗāđďsĝ ėòyƧnüĒėn àċÝ 

(C) ĈĒĘĐŋďĉĒėn àČĖtĒ  

(D) ĀĒĉĀĒœtŔ i÷ĘČĊĆĔė÷ ęþœðŖÝ 

75. ƘĒŒ ŗāĄđČÝ enđĻ? 

(A)  íđĉŗíĘąû čćđčćĒ éíŖĔ ŏĘíđĈĔíĊĒŔ íđûėp÷Ĕn 
ČœdĀŌ  

(B) oćĔ üćÝ ęČíđćĒí ăĔdĒ 
(C) onĒĉÿĒíÝ ăĔdĒčkĒíĊƧė÷ ďĒdđnÝ  

(D) ŗāđĆtĒĀĀĔďćĒcĝ ăĔdĒčkĒ íĔĈĆĔnĔ 

76. oćĔ ďđąĕĐĒí āćĒāđ÷ĒĆĒŔ, oćĔ ČŖkĒ aĈĒĆđėü üėn ąƃƧllČćĔė÷ 
āĔŦĒćĒĆĔÝ òĒćĒĆĔÝ ŗāüĒĂĉĒpĒkĔnĔ, iļ āŠĒŨ ĘāđďĒƃēŌ 
ČĒíđćšĊĒĘĉkĝ ĀĆĒkĔnĔ. iüĒŀ oćĔ uþđĐćûąđĻ : 

(A)  ęČíđćĒí āíœcČŖđÿĒ  (B) ęČjđĀĒí ČĒĉĆĒćĔtŔ  

(C) ĘĉăĉĒÝïĒėĀ ăđÿĒkĔnĔ (D) eüĒćđĊĒ-ŗāŗíĒĆ ďĒdđnÝ 
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77. A person experiences intense fear and avoidance of flying, which disrupts their job 

requiring travel. Their therapist uses systematic desensitization to help them. How does 

this treatment work? 

(A) By encouraging the person to avoid flying completely 

(B) By gradually exposing the person to flying-related stimuli while teaching 

relaxation techniques 

(C) By prescribing medication to suppress anxiety symptoms only 

(D) By using hypnosis to erase the fear memory 

78. A teacher assumes students from a certain background will perform poorly and 

consequently gives them less attention, which leads to poorer performance this an 

example of 

(A) Self-fulfilling prophecy (B) Stereotype threat 

(C) Confirmation bias (D) Social loafing 

79. During middle adulthood, a person who focuses only on personal success without 

Contributing to others is likely to experience : 

(A) Stagnation (B) Industry 

(C) Initiative (D) Guilt 

80. In the postconventional level, moral reasoning is motivated by : 

(A) Avoiding punishment 

(B) Obeying authority 

(C) Seeking approval 

(D) Core values and universal principles 
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77. oćĔ ČŖkĒkĝ üēŗČąđĆ ĄĆČĔÝ āĈkŔ oċĒČđkĉĔÝ aĀĔĄČėp÷ĔnĔ, 
iļ aČćĔė÷ Ćđŗü àČčŖąđĆ ĘôđĉĒėĆ ü÷sėp÷ĔtĔnĔ. aČćĔė÷ 
ėüĈđpĒsĝ aČėć ďĐđĆĒkđŒ ďĒsąđƃĒĭ ùĒėďŒďĒęƃĘďĎŒ 
uāĘĆđïĒkĔnĔ. â òĒíĒt ešėĀĆđĻ ŗāČœtĒkĔnļ? 

(A) āĈkŔ āĕœŬąđĆĔÝ oċĒČđkđŒ ČŖkĒėĆ 
ĘŗāđtđĐĒpĒkĔnüĒĉĕė÷  

(B) ČĒŗčą ČĒþŖíŕ āøĒpĒkĔĘmđŕ āĈkĉĔąđĆĒ ănėpŨ 
uĘtôíšŕkĝ ČŖkĒėĆ ŗíĘąû ČĒĘÿĆąđkĔnüĒĉĕė÷ 

(C) uļíĻø ĉkûšŕ ąđŗüÝ a÷ĒcąœtđŒ ąćĔnĔíŕ 
ĀĒœĘdčĒkĔnüĒĉĕė÷  

(D) ĄĆtĒėn ëœm iĉīđüđkđŒ ĐĒŁĘĀđďĒŏ 
uāĘĆđïĒkĔnüĒĉĕė÷ 

78. oćĔ ŗāĘüŖí āƆđtĉtĒĉĔll ČĒþŖđœtĒíŕ ĘąđčÝ ŗāí÷ĀÝ 
íđŋòČņkĔėąnĝ oćĔ aÿŖđāíŒ aĀĔąđĀĒkĔíĆĔÝ üŔĂĉąđĆĒ 
aČœkĝ íĔĈŧ ŗčd ĀŔíĔíĆĔÝ ėòyƧnĔ, iļ ĘąđčÝ ŗāí÷ĀtĒĘĉkĝ 
ĀĆĒkĔnĔ, iüĒŀ oćĔ uþđĐćûÝ : 

(A)  ďřĆÝ ĀĒĈĘČƃƧn ŗāČòĀÝ  (B) sēćĒĘĆđę÷pĝ ĄēĎûĒ 

(C) sĒćēíćû ākāđüÝ (D) ďđąĕĐĒí aćđôíüřÝ 

79. ąÿŖČĆsĒŔ, ąƃƧllČœkĝ ďÝĄđČĀ ĀŔíđėü ČŖkĒāćąđĆ ČĒôĆtĒŔ 
ąđŗüÝ ŗčd ĘíŗnēíćĒkĔn oćĔ ČŖkĒkĝ iČ aĀĔĄČėp÷đŒ 
ďđÿŖüĆĔŪĝ : 

(A)  ŏüÝĄĀđČs (B) ČŖČďđĆÝ 

(C) ąĔŒęí (D) íĔƃĘăđÿÝ 

80. āđćmćŖđĀnć üĉtĒŔ, ÿđœmĒí ĀŖđĆČđþÝ ŗāĘòđþĒpĒkĔnļ 
iČĆđĻ : 

(A)  čĒk oċĒČđkŔ  

(B) aÿĒíđćėt aĀĔďćĒkŔ 

(C) aÝïēíđćÝ Ęü÷Ŕ  

(D) a÷ĒsđĀ ąĕĉŖšĊƧÝ ďđœČŗüĒí üüřšĊƧÝ 
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81. Find the name of the part of speech given in bold in the given sentence from the 

following options : 

 I will never follow you. 

(A) Adjective (B) Adverb 

(C) Conjunction (D) Interjection 

82. Correct the given sentence by choosing the suitable verb form from the following options :  

 The girls and boys of class V who have registered for the study tour have requesting 

for leave since yesterday. 

(A) Are requesting (B) Have requested 

(C) Have been requesting (D) Had requested 

83. Identify compound complex sentence from the following : 

(A) I saw her when I was returning from the college. 

(B) Being a timid boy, he preferred to be silent about the matter. 

(C) I have a spare notebook yet I do not want to give it to her. 

(D) My friend who was in Dubai came yesterday and gave me some gifts. 

84. Choose the correct sentence from the following : 

(A) If you had come I would have joined 

(B) If I were a bird I will fly 

(C) If you study you will be passed 

(D) If you will work I will have paid you well 

85. Fill in the blanks by using the correct preposition from the options :  

 He fought ____________ his life the whole day. 

(A)  with (B) by 

(C) for (D) in 
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86. Use the appropriate collective noun from the options to complete the given sentence : 

 She found ____________ of arrows inside the cabin. 

(A) Pack (B) Fleet 

(C) Litter (D) Quiver 

87. How many words given below are compound words? 

 Ice cream, sailboat, rain fall, backyard, football, butterfly 

(A) None (B) All 

(C) Two (D) One 

88. The strike was ____________. Find the appropriate phrasal verb from the following to fill 

in the blanks : 

(A) Broken down (B) Gone through 

(C) Looked up (D) Called off 

89. She had to bite the bullet during her training period.  

 Here the idiom in bold means : 

(A)  Unpleasant situation  

(B) Courageous attitude 

(C) Threatening moments  

(D) Exciting moments 

90. Find out the correctly spelt word from the following : 

(A) Acquiantence (B) Aquaintence 

(C) Acquaintance (D) Aqueintance 
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91. òĔČė÷ ĘòœtĒćĒkĔnČĆĒŔ čćĒĆđĆ āþĘąļ? 

(A)  a÷ĒąüřÝ (B) ŗāČœtĒ 

(C) ČĒmĒŨÝ (D) āēúĀÝ 

92. aĈĒŧĔ ėíđŪĝ ėüƃƧ ėòyƧí en aœttĒŔ ŗāĘĆđïĒkĔn ęčĉĒ : 

(A)  upƧ íĕŨĒtĒnĔí  

(B) iĉĆĒŨĝ òČĒŨƧí 

(C) uŪ ĘòđƃĒŔ ąŬĒ÷Ĕí  

(D) ićĆĒŨƧ ąēŒ āĒ÷ĒkĔí 

93. ąĐļ + òćĒüÝ enļ čćĒĆđĆĒ ĘòœėtċĔüĔnėüšĒėĀ? 

(A)  ąĐƆćĒüÝ  

(B) ąĐcćĒüÝ 

(C) ąĐcćĒüÝ  

(D) ąĐóćĒüÝ 

94. ČŪĝ enĝ aœtÝ Čćđt āþĘąļ? 

(A)  āĒāēĉĒí  

(B) ŗĄąćÝ 

(C) ĄĖÝïÝ  

(D) aĊĒ 

95. òĔČė÷ ĘòœtĒćĒkĔnČĆĒŔ čćĒĆđĆ ČđíŖĘąļ? 

(A)  èíĘþčÝ amĘüđĊÝ àŕkđœ ŗāí÷ĀtĒĀĔ ČnĔ 

(B) aČœ ĘüđƃüĒĀĔ íđćûÝ āøĒkđtüĔėíđŪđĻ 

(C) ČđĆĀđþĒĀtĒŔ ČĒþŖđœtĒíŕkđĆĒ ďđĐĒüŖątćšŕ 

Ā÷tđĈĔŪĝ  

(D) íĔŨĒíŕ ŏíĕĊ÷cđŔ ĀđėĊ ąĔüŔ íĊĒ üĔ÷šĔÝ  
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96. ïœĐûēĆÝ enüĒėn čćĒĆđĆ ČĒāćēüāþĘąļ? 

(A)  aïœĐûēĆÝ  

(B) ŏāĖĐûēĆÝ 

(C) ďĔïœĐûēĆÝ  

(D) ŏąćûēĆÝ 

97. òĔČė÷ ĘòœtĒćĒkĔnČĆĒŔ ăĐĔüřėt ďĕòĒpĒkĔn āþĘąļ? 

(A)  ďřđąĒíŕ  

(B) aČœíŕ 

(C) Āmŕ  

(D) ïĔćĔkŕ 

98. ‘ėíđĉĆđĀĆĔllĘpđŕ íĔċĒĆđĀ ąþĒkĔí’ en āċėŦđĉīĒėn àčĆėąnĝ? 

(A) àātĝ ČćĔėąnĝ ČĒòđćĒcĝ ĄĆnĒćĒkĔí 

(B) ďřnÝ čkĒ ąĈnĝ ŗāČœtĒkĔí 

(C) ďřĆÝ ąĈnĝ aĐŠćĒkĔí 

(D) čkćĔllĘpđŕ þĔœăĉœ aĐŠćĒkĔí 

99. þĒıąĔîÝ en āþÝ āĒćĒėcċĔüĔnėüšĒėĀ? 

(A) þĒĭ + ąĔîÝ  

(B) þĒı + ąĔîÝ 

(C) þĒį + ąĔîÝ  

(D) þĒšĝ + ąĔîÝ 

100. Brevity – en āþtĒėn čćĒĆđĆ ąĉĆđĊ aœtÝ 

(A) íĖüŖü  

(B) ČĒčřŏüü 

(C) ďÝkĒŁüü  

(D) àtđœtü 

——————————————————— 
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Space for Rough Work 
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Space for Rough Work 
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